National Testing Agency

Question Paper Name :

ABC 16th September 2020 Shift 2

Subject Name : ABC

Creation Date : 2020-09-16 21:22:00

Duration : 150

Total Marks : 600

Display Marks: Yes

Share Answer Key With Delivery Engine : Yes

Actual Answer Key : Yes

ABC

Group Number : 1

Group Id : 85133029

Group Maximum Duration : 0

Group Minimum Duration : 150

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 600

Is this Group for Examiner? : No
Part I Agriculture 4

Section Id : 85133045

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 50

Number of Questions to be attempted : 50

Section Marks : 200

Display Number Panel : Yes

Group All Questions : Yes

Mark As Answered Required? : Yes

Sub-Section Number : 1

Sub-Section Id : 85133049

Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 8513303604 Question Type : MCQ Option Shuffling : No Display



Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Who developed the first interspecific hybrid between sweet William and carnation species of
Dianthus?

1. C.B. Davenport
2. G.H. Shull

3. Rimpau

4. Thomas Fairchild
Options :
85133014401. 1
85133014402. 2
85133014403. 3
85133014404. 4

Question Number : 1 Question Id : 8513303604 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

SHTY @ Wi Aoy 19 SRA9 {59! 9 Uydad: e Y a4 ard aq—d & U

1. 9. &l 3990

2. GILE. 7
3.1

4. U POERS
Options :
85133014401. 1
85133014402. 2
85133014403. 3
85133014404 4

Question Number : 2 Question Id : 8513303605 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which one of the following is a major limiting factor for plant growth and development?

1. Relative humidity
2. Rainfall

3. Temperature

4. Wind velocity



Options :

85133014405. 1
85133014406. 2
85133014407. 3
85133014408. 4

Question Number : 2 Question Id : 8513303605 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :
85133014405. 1
85133014406. 2
85133014407. 3
85133014408. 4

Question Number : 3 Question Id : 8513303606 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which aone of the following microorganisms live in the root nodules of host plants?
o

1. Azotobacter

2. Azospirillum

3. Phosphorus solubilizing bacteria
4. Rhizobium

Options :

85133014409. 1

85133014410. 2

85133014411.3

85133014412. 4

Question Number : 3 Question Id : 8513303606 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :

85133014409. 1

85133014410. 2

85133014411. 3

85133014412. 4

Question Number : 4 Question Id : 8513303607 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: An individual having more than two basic sets of chromosomes is called as
polyploids

Statement II: Amphidiploid is an allopolyploid which arises by combining genomes of two
diploid species.

Choose the correct answer from the options given below

1. Both Statement | and Statement |l are true.
2. Both Statement | and Statement Il are false.
3. Statement | is true and Statement || is false.
4, Statement | is false and Statement Il is true.
Options :

85133014413. 1

85133014414.2

85133014415.3

85133014416. 4

Question Number : 4 Question Id : 8513303607 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :

85133014413, 1

85133014414, 2

85133014415. 3

85133014416. 4

Question Number : 5 Question Id : 8513303608 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:

Statement I: Climate change is a long term change in the weather parameters over a period of
time that ranges from decades to millions of year,

Statement II: Climate sensitivity refers to the long term change in global mean surface
temperature following a doubling of atmospheric CO; concentration.

Choose the correct answer from the options given below

1. Both Statement | and Statement Il are true.
2. Both Statement | and Statement Il are false.
3. Statement | is true and Statement || is false.
4, Statement | is false and Statement Il is true.
Options :

85133014417. 1

85133014418. 2

85133014419.3

85133014420. 4

Question Number : 5 Question Id : 8513303608 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option



Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1
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Options :

85133014417. 1

85133014418, 2

85133014419. 3

85133014420, 4

Question Number : 6 Question Id : 8513303609 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:

Statement I: Henri-Michaelis-Menten equation represents the kinetic values of enzymes as

__Km +[5]
B Vmax[5]

Statement II: The smaller the value of Km, the more strongly the enzyme binds the substrate.
Choose the correct answer from the options given below

1. Both Statement | and Statement Il are true.
2. Both Statement | and Statement |l are false.
3. Statement | is true and Statement Il is false.
4, Statement | is false and Statement Il is true.
Options :

85133014421. 1



85133014422.2
85133014423.3
85133014424. 4

Question Number : 6 Question Id : 8513303609 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :

85133014421. 1

85133014422. 2

85133014423. 3

85133014424 4

Question Number : 7 Question Id : 8513303610 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Match List | with List Il

List | List 11
A. Brassica carinata \.Brassica oleracea x Brassica campestris
B. Brassica juncea Il.Brassica nigra x Brassica campestris
C. Brassica napus I, Triticum aestivum x Secale cereale
D. Triticale \\V. Brassica nigra x Brassica oleracea

Choose the correct answer from the options given below:

1. A-IV, B-11I, C- 1, D- Il
2.A-1, B-1V, C-1Il, D- |
3.A-1L,B-ILC-1,D- IV
4. A-1I, B-1I, C- IV, D-1
Options :

85133014425. 1
85133014426.2
85133014427.3
85133014428. 4

Question Number : 7 Question Id : 8513303610 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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85133014425. 1
85133014426. 2
85133014427.3
85133014428. 4

Question Number : 8 Question Id : 8513303611 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Match List | with List II:

List | List Il
A. Homokaryons l. Protoplasts fusion of two different species.
B. Heterokaryons Il. Unien of two protoplasts of the same species.
C. Intertribal hybrids lll. The normal protoplast of one species and

nucleus less protoplast of other species.

D. Cybrids IV. Protoplasts fusion between plants of two
different families.

Choose the correct answer from the options given below:

1. A-11, B-1, C- IV, D- Il
2. A-11, B-1, C-1, D- IV
3.A-1,B-1,C-1Il, D- IV
4 A-IV, B-1,C-1ll, D-1
Options :

85133014429. 1
85133014430. 2
85133014431.3
85133014432. 4

Question Number : 8 Question Id : 8513303611 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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2. (A) - (1), (B) - (1), (C) -(0. (D) -(IV)
3. (A) - (1), (B) -(1), (€) - (1), (D) - (IV)
4. (A) - (IV), (B) - (1), (©) - (1), (D) - (1)
Options :

85133014429. 1

85133014430. 2

85133014431.3

85133014432. 4
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Question Number : 9 Question Id : 8513303612 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Match List | with List Il

List | List Il
A. Duplicate gene action l. 9:6:1
B. Inhibitory gene action 1. 12:3:1
C. Masking gene acticn i 13:3
D. Polymeric gene action IV. 15:1

Choose the correct answer from the options given below

1. A- IV, B-1Il, C-1I, D- |
2. A-1,B-11, C-1Il, D- IV
3.A-11, B- IV, C-1,D-1I
4. A-11,B-1,C- 1V, D- 1l
Options :
85133014433. 1
85133014434. 2



85133014435.3
85133014436. 4

Question Number : 9 Question Id : 8513303612 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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1. (A) - (IV), (B) - (), (C) - (1), (D) - ()

2. (A) - (1), (B) - (In), (C) - (1), (D) - (IV)

3. (A) - (1), (B) - (IV), (C) - (1), (D) - (1)

4. (A) - (1), (B) -(1). (C) - (IV), (D) - (1)

Options :

85133014433. 1
85133014434.2
85133014435.3
85133014436. 4

Question Number : 10 Question Id : 8513303613 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Match List | with List Il

List | List Il
A. Rhizobium trifolii . Glycine max
B. Rhizobium meliloti . Trifolium alexendrinum
C. Rhizobium phaseoli ll. Madicago sativa
D. Rhizobium japonicum V. Phaseolus vulgaris

Choose the correct answer from the options given below:

1T.A-1,B-1, C-1,D- 1V
2. A-1,B-1,C- 1, D- IV
3. A-11, B- NI, C- 1V, D- |
4 A-1l, B-1I, C- IV, D- 1
Options :

85133014437. 1
85133014438.2
85133014439.3
85133014440. 4

Question Number : 10 Question Id : 8513303613 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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1. (A) - (1), (B) - (1), (C) - 1), (D) - {IV)
2. (A) - (1), (B) - (1), (C} - (1), (D) - (IV)
3. (A) - (1), (B) - (1), (C) - (V). (D) - (1)

4. (A) - (1), (B) - (1), (<€) - (V). (D) - ()
Options :

85133014437. 1
85133014438. 2
85133014439.3
85133014440. 4

Question Number : 11 Question Id : 8513303614 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Read the following statements related to reasons for Mendel's success:

A. He made an accurate and incisive analysis of the reasons for the failure of earlier workers.
B. At first, Mendel studied the inheritance of only one pair of contrasting characters at a time.
C. Mendel carried out his experiments with great care and elaborateness.

D. Mendel selected pea varieties that had clearly different forms of one or more characters.
Choose the correct answer from the options given below with group having true statements:

1. A B and C only
2. B, C and D only
3. A, Cand D only
4 A B, Cand D
Options :
85133014441. 1
85133014442.2
85133014443. 3
85133014444. 4

Question Number : 11 Question Id : 8513303614 Question Type : MCQ Option Shuffling : No Display



Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :

85133014441. 1
85133014442. 2
85133014443.3
85133014444. 4

Question Number : 12 Question Id : 8513303615 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Read the following statements regarding features of genetic material:

A. The genetic material must be replicated so that its flawless copies are produced.

B. The genetic material must be able tc express itself.

C. The structure of genetic material must be able to store the highly variable information.
D. The genetic material must allow errors in a low frequency.

Choose the correct answer from the options given below

1. A B and C only
2. B, C and D only
3. A, Cand D only
4 A B, Cand D
Options :
85133014445. 1
85133014446. 2
85133014447.3



85133014448. 4

Question Number : 12 Question Id : 8513303615 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :
85133014445. 1
85133014446. 2
85133014447. 3
85133014448. 4

Question Number : 13 Question Id : 8513303616 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Read the following statements:

A. Raffinose is a trisaccharide.

B. Maltose is a disaccharide.

C. Insulin is a structural polysaccharide.

D. Chitin is a storage polysaccharide.

Choose the correct answer from the options given below

1.Cand D
2.BandC
3.AandB

4 Aand D
Options :
85133014449. 1
85133014450. 2
85133014451. 3
85133014452. 4

Question Number : 13 Question Id : 8513303616 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :
85133014449. 1
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Question Number : 14 Question Id : 8513303617 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Sickle-shaped horns are characteristic of which breed?

1. Surti

2. Jaffarabadi
3. Murrah

4. Mehsana
Options :
85133014453. 1
85133014454.2
85133014455.3
85133014456. 4

Question Number : 14 Question Id : 8513303617 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :
85133014453. 1
85133014454.2
85133014455.3
85133014456. 4

Question Number : 15 Question Id : 8513303618 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which is the origin of Gir breed?

1. Hyderabad
2. Junagarh
3. Haryana

4. Nagaur
Options :



85133014457. 1
85133014458. 2
85133014459. 3
85133014460. 4

Question Number : 15 Question Id : 8513303618 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
TR % Bl S A el 8 2

1. BGNIEIG

2. 9l

3. BT

4. AFIR
Options :
85133014457. 1
85133014458. 2
85133014459. 3
85133014460. 4

Question Number : 16 Question Id : 8513303619 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Read the following statements:

A. Kankrej is the heaviest breed of cattle.

B. Ongole is a milch breed of cattle.

C. Malvi is a draft breed of cattle.

D. Khillari is originated from Sholapur.

E. Red Sindhi is a milch breed of cattle.

Choose the correct answer from the options given below

1.A, Cand D
2B CandD
3CDandE
4 A DandE
Options :
85133014461. 1
85133014462.2
85133014463. 3
85133014464. 4



Question Number : 16 Question Id : 8513303619 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :
85133014461. 1
85133014462.2
85133014463. 3
85133014464. 4
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Question Number : 17 Question Id : 8513303620 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statement |: Rhode Isiand Reds is an English class poultry which is famous for its meat
production.

Statement II: Minorca is a Mediterranean breed of poultry and is famous for its excellent
production of large white eggs.

In light of the above statements, choose the most appropriate answer from the options given
below:

1. Both Statement | and Statement Il are true.
2. Both Statement | and Statement || are false.
3. Statement | is true and Statement |l is false.
4. Statement | is false and Statement |l is true.
Options :

85133014465. 1

85133014466. 2

85133014467. 3

85133014468. 4

Question Number : 17 Question Id : 8513303620 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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85133014465. 1

85133014466. 2

85133014467. 3

85133014468 4




Question Number : 18 Question Id : 8513303621 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Match List | with List II:

List | List 1l
A, Female sheep l. Mutton
B. Male sheep Il. Ewe
C. Young sheep lIl. Ram
D. Meat of sheep V. Lamb

Choose the correct answer from the options given below:

1. A- IV, B-1Il, C-1I, D- |
2. A-1,B-1, C-1V, D-|
3. A-11, B- 11, C- IV, D- |
4. A-1,B-1I,C- 1V, D-1ll
Options :

85133014469. 1
85133014470. 2
85133014471.3
85133014472. 4

Question Number : 18 Question Id : 8513303621 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Tl - | D1 Gl - 1| Y AeH &1

gl - | gl - 1l
A) HIET 53 () Hed
(B) R U3 () g9
Q) gar 4s L]
D) YS B A (V) T

[ feu 78 famedl § 9 Taiiye Suged el fddbed & THg &I 98- @1 -
1. (A) - (IV), (B) - (1), (C) - (), (D) - (1)

2. (A) - (1), (B) - (), (C) - (V), (D) - ()

3. (A) - (1), (B) - (1), (C) - (), (D) - ()

4. (A) - (1), (B) - (1), (C) - (IV), (D) - (1)

Options :

85133014469. 1
85133014470. 2
85133014471.3
85133014472. 4

Question Number : 19 Question Id : 8513303622 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Given below are two statements

Statement I: A dairy building should be located for maximum exposure to the sun in the
North and minimum exposure to the sun in the South.

Statement Il: Soils of the dairy building foundation should be dehydrated or completely
desiccated.

In light of the above statements, choose the most appropriate answer from the options given
below:

1. Both Statement | and Statement |l are true.
2. Both Statement | and Statement Il are false.
3. Statement | is true and Statement |l is false.
4, Statement | is false and Statement Il is true.
Options :

85133014473. 1

85133014474. 2

85133014475. 3



85133014476. 4

Question Number : 19 Question Id : 8513303622 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

-2 feg e THf Py @1 Ug

DY - | : Udh ST Ha- B IR (G- BT G4 WIal HFT gy o 78 gail gai a7 aigmn feam &1
e HH I Q4 o fo1g gall giH1 gy

@Y - || ; GEETA @ 94 gUl 9 Y 91 U4 751 Ied el 9net|
SWRIad BYH! & GaH H Gaiite Jol fddhed @ 98- DX

1. YT - 1 T YT - || HT Tl 2|

2. @Y - | Td DY - || GFT Tad o

3. Y - | Hol & Ao &Y - 11 TTad 6
4, FYF - | 0 § i &Y - || 9ol o
Options :

85133014473, 1

85133014474, 2

85133014475. 3

85133014476. 4

Question Number : 20 Question Id : 8513303623 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Match List | with List Il

List |

List Il

A.Succulent roughages

|. Grains and roots

B. Dry roughages

Il. Gil cakes and blood meal

C.Energy concentrates

lll. Tree leaves and silages

D.Proteineous concentrates

IV. Hay and straw

Choose the correct answer from the options given below:

1. A-1Il, B- IV, C- I, D- |
2. A-11, B-1IV, C-1,D-1I
3.A-1,B-1I,C-1, D- IV
4. A-11,B-1V, C-1,D- 1l
Options :

85133014477. 1
85133014478.2
85133014479. 3
85133014480. 4

Question Number : 20 Question Id : 8513303623 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

el - | D1 Gl - 1| Y oeH &1

gl - | gdr - 1l

A) BIET IRT (1) G Ud o

(B) GET IR (Il) Wil gl Ud &is Oid
C) Feliad aH (1) U3 &1 iyl ud giEcs
D) TiEigad gH (IV) € Td 1@

{4 feu 70 fgeedl § 9§ UE! [9dhed G4 &1 99 39 :

1. (A) - (1), (B) - (1), (©) - (I}, (D) - (1)

2. (A) - (1), (B) - (W), (C) - (), (D) - (M)

3. (A) (1), (B) - (1), (C) - (1), (D) - (IV)

4. (A) - (1), (B) - (1V), (C) - (1), (D) - (1)

Options :




85133014477. 1
85133014478. 2
85133014479. 3
85133014480. 4

Question Number : 21 Question Id : 8513303624 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Match List | with List Il

List I List I
Animal Floor space required
A. Cows . 100 - 120 sq.ft
B. Buffaloes Il 20 - 30 sq.ft
C. Calf lll. 25 - 30 sq.ft
D. Pregnant cows IV. 15 - 20 sq.ft

Choose the correct answer from the options given below:

1T A-I, B-1I, C- I, D- IV
2. A-111, B-1I, C- IV, D- |
3. A-1,B-1, C- 1V, D-1I
4. A- 1, B-1Il, C- IV, D- |
Options :

85133014481. 1
85133014482. 2
85133014483.3
85133014484. 4

Question Number : 21 Question Id : 8513303624 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Tl - | H 168 718 AHaR! & fo7e i - 1| 5 168 T ¢RI &3 (@ Bie) 4 e &

gl - | Ol - 1l

(A) T (I) 100 - 120 FHBIE
(8) T (II) 20 -30 TBIE
(C) I3 31 (111) 25 - 35 TPIE
D) ™1 g (IV) 15 - 20 GiIe

[ feu 7Y famedl § 9 Taiiye Sugad fdded & THg ®I 99 @1 ;

1. (A) - (1) (B) - (1), (C) - (1), (D) - {IV)
2. (A) - (1), (B) - (1), (C) - (V). (D) - ()
3. (A) - (1), (B) - (I, () - V), (D) - (1)
4. (A) - (11, (B) - (1), (C) - (V). (D) - ()
Options :

85133014481. 1
85133014482. 2
85133014483.3
85133014484. 4

Question Number : 22 Question Id : 8513303625 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Read the following statements:

A. Rinderpest is a viral disease of animals.

B. Foot and mouth disease is caused by an ultra-filterable virus.
C. Milch fever is a physiological disorder in animals.

D. Mastitis is caused by calcium deficiency.

E. Anthrax is a viral disease of animals.

Choose the correct answer from the options given below:

1.Band C
2.Dand C
3.Aand C

4 DandE
Options :
85133014485. 1
85133014486. 2
85133014487. 3
85133014488. 4



Question Number : 22 Question Id : 8513303625 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

(A) R=T0% U fauny] § g arell ugel &1 S R 2

(B) GIUDI Ud HegUd! §HR] HAlde- arg [qu1 g1 hdl o

(C) T3 7 7Y o TP & e® [dPR o

(D) Y-d STER] Hicadd | Al & PRUBAI &

(E) URI3f H Uiey Udh faum] oif4d Sl 2|

WG BYHI & GoH § U Yaiftye Tei fadbedl & JHE &1 95 DY ;

Options :

85133014485. 1
85133014486. 2
85133014487.3
85133014488. 4

Question Number : 23 Question Id : 8513303626 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Read the following statements:

A. In the world, India ranks first in milk production.

B. Milk does not contain Vitamin C.

C. Colostrum of cow contains 3.1 % lactose and 3.6 % fat.

D. Freshly drawn milk has a pH value of 6.5 to 6.7.

E. Buffalo milk is considered as the best milk for a human being.
Choose the correct answer from the options given below:

1.A, Band C
2.B,Cand D
3.C,DandE
4 A Band D
Options :
85133014489. 1
85133014490. 2
85133014491. 3
85133014492. 4

Question Number : 23 Question Id : 8513303626 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

- feu Tu Syl & Ue :

(A) YRd YUR ¥ g4 IAGH § UyH ®H W el

B) g ¥ faert= i gt gl <idn 8|

C) T4 & 99 H 3.1 Ufaed Taeiv T4 3.6 Uidad e eidi o
(D) ATsl FideTl U g¥ &1 Ul Ug.HH 6.5 9 6.7 & d1d H gidl 8|

(E) THd & T 99 &1 gY 9ay 3381 91 Jidl 5 |
IWRIF BY & GoH H § Yalle Tel fadhed g &1 994 &y ;

1. (A), (B) Td (C)
2. (B), (C) Wd (D)
3. (C), (D) W (F)
4.(A), (B) Ud (D)
Options :
85133014489. 1



85133014490. 2
85133014491. 3
85133014492. 4

Question Number : 24 Question Id : 8513303627 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:

Statement |: Artificial insemination increases the rate of conception and overcomes the
difficulty of size and weight.

Statement II: The first buffalo calf through artificial insemination was born in the year 2000 at
Allahabad Agricultural Institute.

In light of the above statements, choose the most appropriate answer from the options given
below:

1. Both Statement | and Statement |l are true.
2. Both Statement | and Statement Il are false.
3. Statement | is true and Statement || is false.
4, Statement | is false and Statement Il is true.
Options :

85133014493. 1

85133014494. 2

85133014495. 3

85133014496. 4

Question Number : 24 Question Id : 8513303627 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



g aH Py P Ue

@Y - | DI THYH Y THYRU &R 9¢dl & aUl HHR U4 4R &) GHE I HaH sl g
@Y - 1| B THIYH ¥ UG 1 Ugdl §9s1 T 2000 H STRERG $iY IRIH T Ual g1 4T
IR BY! & IoH & I Yaifte Iuga fadbed &1 989 $1

1. YT - ITd HYT - | GHITEI§ |

2. BYF - 1 T HYA - || GHT TTad ol

3. @Y - | 98l & dided &Y - I Tad e
4. Y - | 04 & did] @YU - || Gal 8l
Options :

85133014493, 1

85133014494, 2

85133014495, 3

85133014496 4

Question Number : 25 Question Id : 8513303628 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Match List | with List Il regarding the quality of semen:

List | List Il
A. Thick creamy I. Fair
B. Thin creamy Il. Very good
C. Thick milky I, Excellent
D. Thin milky V. Good

Choose the correct answer from the options given below:

1T.A-1, B-1I, C-1, D- IV
2. A-1I1, B-1I, C- IV, D- |
3A-1L,B-11, C- IV, D- |
4 A1, B-1IIl, C- 1L, D- 1V
Options :

85133014497. 1
85133014498. 2
85133014499. 3



85133014500. 4

Question Number : 25 Question Id : 8513303628 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
i - | U9 i - 11 5 &1 972 91 0ra & el @y

gl - | gl - 1l

(A) TTGT Il (1) 3

(B) Uil ShiHT (I1) §gd =T
(C) T gy S (1) IY 3fST
(D) UeTRll g8 Wi ]

[ TeT 770 fadedl 5 O U9 Gol [aaed & 9Hg 31 904 31 -

1. (A) - (1), (B) - (1), (C) - (1), (D) - {IV)
2. (A) - (1), (B) - (1), (C) - (V). (D) - (1)
3. (A) - (1), (B) - (1), (<€) - (V). (D) - (1)
4. (A) - (1), (B) - (1), () - (1), (D) - (IV)
Options :

85133014497. 1
85133014498. 2
85133014499. 3
85133014500. 4

Question Number : 26 Question Id : 8513303629 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

What was the wheat production in India during the year 2018-197

1. 103 million tonne
2. 93 million tonne
3. 113 million tonne
4. 83 million tonne
Options :
85133014501. 1
85133014502. 2
85133014503. 3
85133014504. 4

Question Number : 26 Question Id : 8513303629 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option



Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

Iy 2018-19 H YRA H 91§ B ST fdocH1 YT ?

1. 103 fHfermq eA
.93 Tfegq 25
113 fafega o4
83 Hfe@a eq
Options :
85133014501. 1
85133014502. 2
85133014503. 3
85133014504 4

o L

Question Number : 27 Question Id : 8513303630 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which of the following nutrients becomes more available with increasing soil pH?

1. Manganese
2. lron

3. Sulphur

4. Molybdenum
Options :
85133014505. 1
85133014506. 2
85133014507. 3
85133014508. 4

Question Number : 27 Question Id : 8513303630 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
a4 4ivd. g & 91y fo7g Uiud aw@ & Suasidl 96 o

1. 5

2. Tl

3. Yol

4, Hiciiee4H
Options :
85133014505. 1
85133014506. 2




85133014507. 3
85133014508. 4

Question Number : 28 Question Id : 8513303631 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

What is the seed rate of short duration pigecn pea for line sowing?

1. 5-10 kg/ha
2. 15-18 kg/ha
3. 10-12 kg/ha
4. 20-25 kg/ha
Options :
85133014509. 1
85133014510.2
85133014511.3
85133014512. 4

Question Number : 28 Question Id : 8513303631 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Heaasl SRER 31 AR 34 T gaTs H Sioa a1 aidl & 2

1. 5-10 fraam™ uid gacm
2.15-18 fhaiuE ufd geemR
3.10-12 oM ufd g
4, 20-25 THauE ufd gaem
Options :

85133014509. 1
85133014510. 2
85133014511, 3
85133014512. 4

Question Number : 29 Question Id : 8513303632 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Read the following statements:

A. Rice is a water-loving crop and it can be grown under diverse ecosystems,

B. Rice is established in the field through transplanting, direct sowing and sprouted seedling.
C. The preductivity of rice is 3.9 t/ ha in India.

D. India ranked first in area and production of rice in the world.

E. Around 50 % of the total area of rice is irrigated in India.

Choose the correct answer from the options given below

1.A, Band C
2.B,Cand D
3.C,DandE
4 A BandE
Options :
85133014513. 1
85133014514.2
85133014515. 3
85133014516. 4

Question Number : 29 Question Id : 8513303632 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

frofead @yl ®f uieu ;

(A) T U@ SR Hd ¢, Ud 34 fafay uiiufae & 3§ S o @ g |

(B) U &1 BUd DI UIERH-RY, Wl gd1s Ud HRd gdis gRI Td H o9l 9l g
(C) HRA H YT &1 JdTadhdl 3.9 2 Uld gac R &

(D) & & &% U4 IdIe- H YRd &1 a4 § Uga = &
(E) YR & ¥H & ool aFmha | I @ 50 ufawd a8
9 o 9 U Syl 91 g &1 999 B

Options :
85133014513. 1
85133014514. 2



85133014515.3
85133014516. 4

Question Number : 30 Question Id : 8513303633 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:

Statement I: Nearly 90 % of the total sulphur in most of the non- calcareous surface soils
exists as organic forms.

Statement II: Denitrification losses of nitrogen can be reduced under aercbic conditions.

In light of the above statements, choose the most appropriate answer from the options given
below:

1. Both Statement | and Statement |l are true.
2. Both Statement | and Statement Il are false.
3. Statement | is true and Statement |l is false.
4, Statement | is false and Statement Il is true.
Options :

85133014517. 1

85133014518. 2

85133014519. 3

85133014520. 4

Question Number : 30 Question Id : 8513303633 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
@YU - | : YD BicAgH Aed Tdg! Farl § Ha TebR B TTHT 90 Wi Jeb Dlai-id
FUH AT

@YU - 1| ; Ifag RISl H Argeiad & faA3icd ol R 319 & & 6T o Yl ¢ |
IR DY B FoH H Halltd I [ddbed BT 98- P ;

1. PYT - INd HY - | THI TR & |

2. BYT- ITd HYT - 1 GH Tad & |

3. Y - | Tal &, Tifdh &Y - 11 7Taid & |
4. @YU - | 04 &, i &Y - || T8l 8
Options :

85133014517. 1



85133014518. 2
85133014519. 3
85133014520. 4

Question Number : 31 Question Id : 8513303634 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Atmospheric air contains a higher concentration of nitrogen gas.
Statement ll: Scil air contains a lower concentration of carbon dioxide.

In light of the above statements, choose the most appropriate answer from the options given
below:

1. Both Statement | and Statement |l are true.
2. Both Statement | and Statement Il are false.
3. Statement | is true and Statement |l is false.
4, Statement | is false and Statement Il is true.
Options :

85133014521. 1

85133014522.2

85133014523. 3

85133014524. 4

Question Number : 31 Question Id : 8513303634 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
®Y - | : ARG 9 H Agera 19 DI Gigdl 34w gidl 81

HYUT - || : GaT I § S 313 HG5S &1 9iadl &9 sial 8

IWRiad Byl & g5 H Falfte Iugad fawe orauT ol

1. YT - ITdHYF - 1 Gl Fal g |

2. BYT- ITgHYT- I GH Tad & |

3. Y - | Tal &, T &Y - 11 7Tad & |
4. @YU - | 704 &, Al ®YF - || T8l 8
Options :

85133014521. 1

85133014522.2



85133014523. 3
85133014524. 4

Question Number : 32 Question Id : 8513303635 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Read the following statements:

A. Mixed and intercropping systems are the most suitable cropping system under dryland
condition.

B. Drylands contribute 45% food grains to the total production.

C. Drought is a common phenomenon in drylands.

D. Most of the pulses and cilseeds are grown in irrigated conditions.

E. Nutrient management is more important than soil moisture conservation.

Choose the correct answer from the options given below:

1.A, Band C
2.B,CandD
3.C,DandE
4 A CandE
Options :
85133014525. 1
85133014526. 2
85133014527. 3
85133014528. 4

Question Number : 32 Question Id : 8513303635 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



FgfaRad fﬁﬂ:ﬁﬁqﬁf{
A) X ORI &1 o wonterdl & 9 figid d Siaierg Baa U gaiide Sudad o
B) $a U9 Jcle H ¥ 45 Ul2d 32 Yeh PN B 5

C) =P &A1 H &I U5 T@ WH 914 &

(D) HTH 5T v faae-! & Rifvd &sf & Smar wian &1
(E) UlSdh od We=i- Fal 41 T80 ¥ 3Hi¥d Agwayqul 5
frafdiad faeedl | 9 981 ST &1 909 o1 :

1. (A), (B), (
2. (B), (C), (D
3. (C). (D), ()
4. (A), (Q), (E)
Options :
85133014525. 1
85133014526. 2
85133014527.3

85133014528. 4

(
(

Question Number : 33 Question Id : 8513303636 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Read the following statements:

A. The maximum water availability is at saturation.

B. Generally, the evapotranspiration rate is higher in drylands.
C. Water requirement of wheat is 460 mm.

D. Dew bean is the most drought-resistant crop.

E. The maximum irrigated area is under rice,

Choose the correct answer from the options given below:

1.A, Band C
2.B,CandD
3.CDandE
4 A DandE
Options :
85133014529. 1
85133014530. 2



85133014531. 3
85133014532. 4

Question Number : 33 Question Id : 8513303636 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

fafaiad oyl of oy

(A) GJe TR R o $1 3Ucedl HUHaq gidl o

(B) TG X5 &1 H ars - arsdioeid &1 &3 3H¥d aldl 8|
(C) 1§ &1 SeTHIT 460 fHeliHeR gidl 2

(D) T3 alf¥d Y@l Y- d-di byd o
(F) Haiia® fifad gz a H 81
9 & ¥ 98 ®yA! 910 998 & 99 331 -

1. (A), (B), (C)
2. (B), (C), (D)
3. (C). (D). (B)
4. (A), (D), (E)
Options :
85133014529. 1
85133014530. 2
85133014531.3

85133014532. 4

Question Number : 34 Question Id : 8513303637 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Read the following statements:

A. Nematodes are obligate parasites.

B. Plant-parasitic nematodes are microscopic and complex organisms.

C. Most of the plant-parasitic nematodes take 20-30 weeks to complete their life cycle.
D. Molya disease of wheat and barley is due to Anguina tritici.

E. Majority of the plant-parasitic nematodes are ectoparasitic in nature.

Choose the correct answer from the options given below:

1.A, Band C
2.B,Cand D
3.A, BandE
4 A Band D
Options :
85133014533. 1
85133014534.2
85133014535.3
85133014536. 4

Question Number : 34 Question Id : 8513303637 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

fgfeiad oyl @ ufeu ;

(A) T el geeidl g ol

B) UTGY URuild] YADIH EHGRIY Ud Wicd wild 8id 5|

C) HUDIR UGy UXsid] YA H U] Sl 95k 20 - 30 Twe 8 I ®3d o
(D) 71§ U Il I Hied] IF WeAl [EeITg & BRY il

(F) AP UTGY UTSidl TP H 161 TReid! §id &

el YT arel GYE &1 99 T

- (A), (B), (©)
- (B), (Q). (D)
- ) (

) (

l..u[‘u—t

A), (B), (E
4. (A), (B), (D)

Options :
85133014533. 1
85133014534.2

o



85133014535.3
85133014536. 4

Question Number : 35 Question Id : 8513303638 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Match List | with List II:

List I List Il
A. Satellite weed . Cichorium intybus
B. Crop-bound weed Il. Sorghum halepense
C. Perennial weed lll. Crobanche spp.
D. Biennial weed IV. Phalaris minor

Choose the correct answer from the options given below:

1. A-1, B- 11, C-1ll, D- IV
2. A-1IV, B-1Il, C-11, D- 1
3.A-1,B-11, C- IV, D-lll
4 A-11,B-1I,C-1,D- 1V
Options :

85133014537. 1
85133014538. 2
85133014539.3
85133014540. 4

Question Number : 35 Question Id : 8513303638 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Tl - | D1 Gl - 1| Y AeH &1

gl - | gl - 1l
A) Hedlse WIUdaR () FI@IRgT telsay
(B) BHT 990 WITAAR () TITH G~
C) 9gaftg WIUdar (1) HRla-p] s
) faaftfo wRuqar (V) BaRT TiER
1o faeedl / § 981 STk &1 997 3 ;
1. (A) - (1), (B) - (11), {C) - (1), (D) - (IV)
2. (A) - (IV), (B) - (11}, (C) - (1), (D) - ()
3. (A) - (), (B) - (1), (C) - (IV), (D) - (1)
4. (A) -(I1), (B) - (1), (€) - (1), (D) - (IV)
Options :

85133014537. 1
85133014538. 2
85133014539.3
85133014540. 4

Question Number : 36 Question Id : 8513303639 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Match List | with List Il

List | List Il
A. Alachlor . Glean
B. Chlorsulfuron II. Lasso
C. Clodinafop-propargyl I, Algrip
D. Metsulfuron-methyl V. Topic

Choose the correct answer from the options given below:

1. A-11, B-1, C- IV, D-lll
2. A-1,B-11, C- IV, D- I
3.A-1,B-11,C-1Il, D- IV
4. A-11, B-1I, C- IV, D-1
Options :



85133014541. 1
85133014542.2
85133014543. 3
85133014544. 4

Question Number : 36 Question Id : 8513303639 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

gt - | &1 gt - 11 Y foeH o

gl - | Tl -

(A) TeTTiR () @
(B) TR HeRRH KSR
(C) TSR Y WURwd (111) AR
(D) He THERH fAuEa (Iv) Sift®
frofaiad f[decal § O 98 3o &l 994 &Y -

1. (A) - (1), (B) - (1), (C) - (IV), (D) - (1)

2. (A) - (1), (B) - (1), (C) - (IV), (D) - (1)

3. (A) - (1), (B) - (1), (C) - (1), (D) - (IV)

4. (A) - (1), (B) - (1), (C) - (IV), (D) - (1)

Options :

85133014541. 1
85133014542.2
85133014543.3
85133014544. 4

Question Number : 37 Question Id : 8513303640 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Match List | with List Il

List | List Il
A. Rice I. Sulfosulfuron
B. Wheat II. Pretilachlor
C. Maize I, Atrazine
D. Soybean V. Imazethapyr

Choose the correct answer from the options given below:

1. A-IV, B-1, C- I, D- Il
2. A-11,B-1, C-1,D- IV
3.A-11,B-1,C-1Il, D- IV
4 A-11,B-1,C- 1V, D- 1l
Options :

85133014545. 1
85133014546. 2
85133014547.3
85133014548. 4

Question Number : 37 Question Id : 8513303640 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

el - | D1 Gl - 1| Y oeH &1

gl - | gl -

(A) YT (1) Ieh e
(8) 7§ B ERESIT
(C) HaDI (1l1) TSTeii

(D) TETET (1V) SRR
Fofeafed Iedl # U U8l I8 &1 997 & ;
1. (A) - (IV), (B) - (I}, (C) - (1), (D) - (1)

2. (A) - (1), (B) - (1), (€) - (1), (D) - (IV)

3. (A) - (1), (B) - (1), (C) - (1), (D) - (IV)

4. (A) - (1), (B) - (), (C) - (IV), (D) - (1)



85133014545. 1
85133014546. 2
85133014547. 3
85133014548. 4

Question Number : 38 Question Id : 8513303641 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Match List | with List II:

List | List I
A, Normal water . 5-10dS/ m
B. Low salinity water Il. =10 dS/ m
C. Saline water 1. <1.5d5/ m
D. Highly saline water V. 1.5-3 dS/ m

Choose the correct answer from the options given below:

1. A-11l, B- IV, C-Il, D- |
2. A-1, B-1ll, C- IV, D- I
3. A-111, B-1, C- 1V, D- I
4 A-1Il, B-1IV, C-1,D-1
Options :

85133014549. 1
85133014550.2
85133014551.3
85133014552. 4

Question Number : 38 Question Id : 8513303641 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Tl - | D1 Gl - 1| Y AeH &1

gl - | Tl - 1l
(A) 9E Sie () 5- 10 ds/m
(B) 3T TGUY e () > 10 ds/ m
C) Tauiig =i () < 1.5 ds/m
D) fd vy & (IV) 1.5 -3 ds/m
frafefad faecdl 7 4 U6l ST & 98 3 -
1. (A) - (1), (B) - (1), (C) - (), (D) - (1)
2. (A) - (1), (B) - (1), (C) - (IV), (D) - (1)
3. (A) - (1), (B) - (1) (C) - (1V), (D) - (1)

4. (A) - (1), (B) - (IV), (©) - (), (D) - (1)
Options :

85133014549. 1
85133014550. 2
85133014551.3
85133014552. 4

Question Number : 39 Question Id : 8513303642 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Read the following statements:

A. Flavr Savr is a transgenic variety of tomato.

B. Pusa Sheetal is a drought-tolerant variety of tomato.
C. India stands first in vegetable production.

D. Hisar Lalit is nematode resistant variety.

E. Tomato is winter season vegetable.

Choose the correct answer from the options given below:

1.A, Band C
2.C,DandE
3.A, DandE
4B CandE
Options :
85133014553. 1
85133014554. 2
85133014555. 3
85133014556. 4



Question Number : 39 Question Id : 8513303642 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

g Tyl 3 ufen

(A) TR - YaX THI &1 o Afgifs e B
(B) T Sfiad 2amer @1 g1 uforieh i B

(C) HRd B Yool 3dIGH J TUH =H &1

(D) TBHR Tiftd Yt ufeidl fes 5|

(E) 2HIeY ¥id g & B &

Fafeiad 9ol ¥ 9 U8l Y=l & g d1d [dod 31 999 B3 ;

L

Options :

85133014553. 1
85133014554.2
85133014555.3
85133014556. 4

Question Number : 40 Question Id : 8513303643 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statement |: Sodium benzoate is used as a preservative in the product having a natural colour,
whereas potassium metabisulphite is used in a colourless preduct.

Statement II: In the dehydration process of fruits and vegetables, more temperature is
required for vegetables as compared to fruits.

In light of the above statements, choose the most appropriate answer from the options given
below:

1. Both Statement | and Statement |l are true.
2. Both Statement | and Statement || are false.
3. Statement | is true and Statement |l is false.
4. Statement | is false and Statement |l is true.
Options :

85133014557. 1

85133014558. 2

85133014559. 3

85133014560. 4

Question Number : 40 Question Id : 8513303643 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

CIE AT I T e R T

HY - | WiPia® T 3Td 3016 § URRET & T 9ifsgH siiue &1 SUan i1 Sl 8, Said
e gl & fofu urefigd Her a1 gehlae &l 39gNT fddl &l &

@Y - 1| Tl Ud Yiewrd!l & @ &1 uferar & Tfeadl &1 ol $I U Afde argdH &1
HIGRgH Bldl &

IWRIdd Y & FaH H Falitis I9gad fadbed &l 984 &1 :

1. YT - ITd HY - | THI el &

2. BYT- ITd HYT - 1 GH Tad & |

3. ®YF - | Dol 8, A &Y - 11 7Tad 8l
4. Y- | Tad 8, AP BY - | el &
Options :

85133014557. 1

85133014558, 2

85133014559, 3

85133014560. 4




Question Number : 41 Question Id : 8513303644 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Match List | with List Il

List | List II
(Product) (Total Soluble Solids)
AL RTS l. 15 per cent
B. Cordial Il. 40-50 per cent
C. Nectar l1l. 10 per cent
D. Squash IV. 30 per cent

Choose the correct answer from the options given below:

1.A-11l, B- IV, C-1I, D- |
2. A-111, B-1, C- IV, D- I
3A-111, B-1V, C-1,D-1I
4 A-11, B-1Il, C- IV, D- |
Options :

85133014561. 1
85133014562. 2
85133014563. 3
85133014564. 4

Question Number : 41 Question Id : 8513303644 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Tl - | DT ol - 11 Y Jedle Ud oot YoAia gard & G H fFeaH &<

el - | (3E) Tl - 1| (@T IoHId ar)
(a) ARET. () 15 Wiaerd

(B) BISad (1) 40 - 50 Ufq=d
(C) HEeX (i 10 ufaed

(D) & T (V) 20 UfaEd
frofefad e § 4 98l S BT 9ad &l
1. (A) - (1), (B) - (IV), (C) - (), (D) - (1)

2. (A) - (1), (B) - (1), (C) - (IV), (D) - (1)

3. (A) - (1), (B) - (IV), (C) - (1), (D) - (1)

4. (A) - (1), (B) - (1), (C) - (W), (D) - (1)
Options :

85133014561. 1
85133014562. 2
85133014563. 3
85133014564. 4

Question Number : 42 Question Id : 8513303645 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Read the following statements:

A. English gardens are informal in nature.

B. French gardens are informal in nature.

C. Persian gardens are the latest styled gardens.

D. The lawn is the heart of a garden.

E. Pinjore garden is a Mughal style garden.

Choose the correct answer from the options given below:

1.A, DandE
2.A BandE
3.A,.CandD
4 C DandE
Options :
85133014565. 1
85133014566. 2
85133014567. 3
85133014568. 4



Question Number : 42 Question Id : 8513303645 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
fau 10 @yl &1 ufgu::

(A) ST S SHIEIRS Ueld & 8id &
(8) Wil M3 Faie Uefd # g §
(C) OFET TS T My Sel & meT 8|
(D) BT, MET BT geA e 2|

() fU=SiIR T1TE o it b1 e |

i feu U fgwedl § U Ul YAl & GHE aId [adbed &1 994 B ;

B

Options :

85133014565. 1
85133014566. 2
85133014567. 3
85133014568. 4

Question Number : 43 Question Id : 8513303646 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Read the following statements:

A. Square method of orchard layout is the simplest method.

B. Maximum plants can be accommodated in the quincunx method of orchard layout.

C. More number of plants can be accommodated in the rectangle method as compared to the
hexagonal method.

D. Intercultural operations become tough in the square method of orchard layout.

E. Contour method is the most popular method of orchard layout.

Choose the correct answer from the optiens given below:

1.Aand B

2. Aand C
3.A BandC
4 A Band D
Options :
85133014569. 1
85133014570. 2
85133014571. 3
85133014572. 4

Question Number : 43 Question Id : 8513303646 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
frafaiad @yl of ufeu

(A) T & TEIH- B! TSR &Y Jad 219 &

(B) STl & Y@ich- &1 [Reb (919 H Talidcs 1Y 1Y o Uhd & |

(C) YeHSITHR (afl DT U&T HTAIHR 1aid F Hf¥d Uit Te &I Tad 5
(D) N & WEiH B FER a1y J gy feare § &ies sl 6|
(E) e fafl 9T & YEid- &t ey dlefig fafd g

Fafeiad el ¥ 9 U8 Y=l & Tg did [doed BT 99 B3 ;

)
4. (A), (B),
Options :



85133014569. 1
85133014570. 2
85133014571. 3
85133014572. 4

Question Number : 44 Question Id : 8513303647 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Match List | with List Il

List | List Il
A. Rhizome . Strawberry
B. Corm Il. Turmeric
C. Runners I, Garlic
D. Clove IV. Colocasia

Choose the correct answer from the options given below:

1. A-1l, B- IV, C-1ll, D- |
2. A-1,B-1, C-1V, D-|
3. A-11, B-1V, C-1, D- I
4. A-IV,B-1I, C-1,D-11
Options :

85133014573. 1
85133014574.2
85133014575.3
85133014576. 4

Question Number : 44 Question Id : 8513303647 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Tl - | D1 Gl - 1| Y AeH &1

gl - | Tl -
(A) TESH (1) T
(B) BIH (1) gl
(C) T (1) TegA
(D) aaild (V) 3RaT
frofeiad ool § 4 U8 SR @1 999 &8

1. (A) - (1), (B) - (IV), (C) - (l), (D) - (1)

2. (A) - (1), (B) - (1), (C) - (V), (D) - (1)

3. (A) - (1), (B) - (V) , (C) - (1), (D) - (101}

4. (A) - (IV), (B) - (I}, (C) - (1), (D) - (1)
Options :

85133014573. 1
85133014574. 2
85133014575.3
85133014576. 4

Question Number : 45 Question Id : 8513303648 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Match List | with List Il

List | List Il
A. Lemon I. Cutting
B. Acnla II. Inarching
C. Sapota I, Seed
D. Pomegranate IV. Budding

Choose the correct answer from the options given below:

1. A-1Il, B- IV, C- |, D- I
2. A-11, B- 11, C- 1V, D- |
3. A-IV, B-11, C- 1, D- |
4. A-1I, B-1V, C-1I, D-1
Options :



85133014577. 1
85133014578. 2
85133014579. 3
85133014580. 4

Question Number : 45 Question Id : 8513303648 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

gt - | &1 gt - 11 Y foeH o

gl - | Tl - 1l

(A) g (1) DeH

(B) Sl (11) ST

(C) 9% EE

(D) SR (IV) Dicih™a
fr feu e fawenl & O 98t 3w @1 999 o
1. (A) - (1), (B) - (IV), (C) - (1), (D) - (1)

2. (A) - (1), (B) - (1), (C) - (IV), (D) - (1)

3. (A) - (IV), (B) - (In), (C) - (), (D) - (1)

4. (A) - (), (B) - (v}, (C) - (), (D) - (1)
Options :

85133014577. 1
85133014578. 2
85133014579. 3
85133014580. 4

Question Number : 46 Question Id : 8513303649 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Match List | with List Il

List | List Il
A. Spongy tissue I. Chausa
B. Yellow rinded Il. Alphonso
C. Malformation resistant 1l Ambika
D. Sweetest variety IV. Bhadran

Choose the correct answer from the options given below:

1. A-11, B-1I, C- IV, D- |
2. A-1, B-1V, C-1ll, D- |
3.A-1, B- IV, C-1, D- il
4. A-IV,B-1I, C-1,D-11
Options :

85133014581. 1
85133014582.2
85133014583. 3
85133014584. 4

Question Number : 46 Question Id : 8513303649 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Tl - | T Gl - 1 Y FAeH &1

gl - | It - 1l

(A) TG 39D (1) I

(B) Uit fawia arelt foed (1) e
(C) ATAHRATS UicRidh (1) SHFEHT
(D) ey Hidl fH (V) HIGIH
Fofafad [9meal § § Ul 3w &1 904 &1 :

1. (A) - (1), (B) - (11), (C) - (V). (D) - (1)

2. (A) - (1), (B) - (1V), (C) - (1), (D) - ()

3. (A) - (1), (B) - (1IV), (C) - (), (D) - (1)

4. (A) - (IV), (B} - (1), (€) - (), (D) - (1)



85133014581. 1
85133014582. 2
85133014583. 3
85133014584. 4

Question Number : 47 Question Id : 8513303650 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which one of the following is a dicecious vegetable?

1. Ridge gourd
2. Bittergourd

3. Pointed gourd
4. lvy gourd
Options :
85133014585. 1
85133014586. 2
85133014587. 3
85133014588. 4

Question Number : 47 Question Id : 8513303650 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
foafeiad 5 9 DId! Tmie Geoll § 2

1. 3%

2. el

3. Udd

4. PoE
Options :
85133014585. 1
85133014586. 2
85133014587. 3
85133014588. 4

Question Number : 48 Question Id : 8513303651 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Central Institute of Arid Horticulture is situated in which city?

1. Lucknow

2. Jodhpur

3. Bikaner

4. Ajmer
Options :
85133014589. 1
85133014590. 2
85133014591. 3
85133014592. 4

Question Number : 48 Question Id : 8513303651 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

i Y aFEHT UH del a6 ?

1. td1dh

2. SR

3. AHR

4, IR
Options :
85133014589. 1
85133014590. 2
85133014591. 3
85133014592. 4

Question Number : 49 Question Id : 8513303652 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statement |: Roses thrive well in a sunny climate as they require a minimum of six hours of
sunlight.

Statement Il: Roses should be harvested at the tight bud stage and should be stored at 2-3°C
with a relative humidity of 20-95%.

In light of the above statements, choose the most appropriate answer from the options given
below:

1. Both Statement | and Statement |l are true.
2. Both Statement | and Statement || are false.
3. Statement | is true and Statement |l is false.
4. Statement | is false and Statement |l is true.
Options :

85133014593. 1

85133014594. 2

85133014595. 3

85133014596. 4

Question Number : 49 Question Id : 8513303652 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

TRT ey RTmE -
HYF - | TS G 9198 § 2! ¥ U 8, U4 A9Y 6 He UIIR &) faxgddl gl gl

HU - 1| ; T[S B gols DAR DD Ay T Bl 9t Ud YUSRU 2 - 3° =<8 U 90 - 95
UI=Id 3MUfE SHTsdl 0 BT Jiigu|

SWRIdd B! & FaH H Falitd 3uddd fadbed o] 9a4 &1 :

1. YT - ITd BYF - 1 THI Tel &

2. BY - ITdHYF - 1 GHI TTad & |

3. ®Y - | Hal 8, Qi By - 1 Ted &
4. Y - | 7T0d 8, dAld- HYH - | el &
Options :

85133014593 1

85133014594, 2

85133014595. 3

85133014596. 4




Question Number : 50 Question Id : 8513303653 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Match List | with List Il

List | List I
A. Potato . Browning
B. Onion Il. Wart
C. Radish I1l. Bolting
D. Cauliflower V. Pithiness

Choose the correct answer from the options given below:

1. A-11, B- 1, C- IV, D- |
2. A-11,B-1I, C-1, D- IV
3. A-1,B-1I, C- 1V, D- I
4. A-1, B- 1l C- IV, D-1ll
Options :

85133014597. 1
85133014598. 2
85133014599. 3
85133014600. 4

Question Number : 50 Question Id : 8513303653 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



TN ol

(A) 3T, (1) SIS

(B) TS () are

(C) il (1) Free i
(D) BTt (v) faef=g
fofafad § 3 Gl SR BT TG B

1. (A) (1), (B) - (1), (C) - (V) , (D) - (I)
2. (A) - (1), (B) - (1), (C) - (1), (D) - (IV)
3. (A) - (1), (B) - (l), () - (V), (D) - (1)
4. (A) - (1), (B) - (1), (C) - (IV), (D) - (1)
Options :

85133014597. 1

85133014598. 2

85133014599. 3

85133014600. 4

Part II Biology 4
Section Id : 85133046
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 50
Number of Questions to be attempted : 50
Section Marks : 200
Display Number Panel : Yes
Group All Questions : Yes
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 85133050
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 8513303654 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



In acquired immunity

A. Antibodies produced for allergens are of IgA type

B. B-cells themselves do not secrete antibodies but help T-cells to produce them
C. T-cells are responsible for the graft rejection

D. Each antibody molecule has four peptide chains

Choose the correct answer from the options given below

1. B and C only
2. Cand D only
3. A and B only
4. B and D only
Options :
85133014601. 1
85133014602. 2
85133014603. 3
85133014604. 4

Question Number : 51 Question Id : 8513303654 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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1. Paad gy ¥
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3. Haa AU g
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Options :
85133014601. 1
85133014602. 2
85133014603. 3
85133014604, 4




Question Number : 52 Question Id : 8513303655 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Cr-Jacob Disease is caused by

1. Prions

2. Viroids

3. Virus

4. Mycoplasma
Options :
85133014605. 1
85133014606. 2
85133014607. 3
85133014608. 4

Question Number : 52 Question Id : 8513303655 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
% - WD AP PR &

1. U/

2. IS

3. faum

4. ISP Il
Options :
85133014605. 1
85133014606. 2

85133014607. 3
85133014608. 4

Question Number : 53 Question Id : 8513303656 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The most accepted line of descent in human evolution is

1. Australopithecines — Ramapithecus — Homo sapiens — Homo habilis

2. Homo erectus — Homo habilis — Homo sapiens

3. Ramapithecus — Homo habilis — Homo erectus — Homo sapiens

4. Australopithecines — Ramapithecus — Homo erectus — Homo habilis — Homo sapiens
Options :



85133014609. 1
85133014610. 2
85133014611. 3
85133014612. 4

Question Number : 53 Question Id : 8513303656 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

A4 faeg & Yey o Taifte Ffdae oradr e -

1. Sreeferagdied — IHdied — g fta — gl efadg

2. 5 3T — B! gladig — g 9fug4

3. IOy — B! sfaciy — 8El 5iaey — sH aftgg

4. ARFFANNHY — I AHY — 5H 3idey — gl efefayg — gl Aftg—g
Options :

85133014609. 1

85133014610. 2

85133014611. 3

85133014612. 4

Question Number : 54 Question Id : 8513303657 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Polycistronic genes are generally found in

1. Bacteria

2. Amoeba

3. Slime molds
4. Insects
Options :
85133014613. 1
85133014614.2
85133014615. 3
85133014616. 4

Question Number : 54 Question Id : 8513303657 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :
85133014613. 1
85133014614. 2
85133014615. 3
85133014616. 4

Question Number : 55 Question Id : 8513303658 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:
Statements I: Activation of Na™ channels is responsible for the absolute refractery period.

Statements II: Relative refractory period is the interval during which second action potential
can be elicited, provided the stimulus is strong enough.

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both Statement | and Statement |l are correct

2. Both Statement | and Statement Il are incorrect

3. Statement | is correct but Statement 1l is incorrect
4. Statement | is incorrect but Statement Il is correct
Options :

85133014617. 1

85133014618. 2

85133014619.3

85133014620. 4

Question Number : 55 Question Id : 8513303658 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :

85133014617. 1

85133014618. 2

85133014619. 3

85133014620. 4

Question Number : 56 Question Id : 8513303659 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Plant growth regulator that is synthesized in regions where rapid cell division occurs

1. Abscissic Acid
2. Ethylene

3. Cytokinin

4. Gibberellic Acid
Options :
85133014621. 1
85133014622.2
85133014623. 3
85133014624. 4

Question Number : 56 Question Id : 8513303659 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :
85133014621. 1
85133014622. 2
85133014623. 3
85133014624. 4

Question Number : 57 Question Id : 8513303660 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The term “Ecosystem” was proposed by

1. E.P. Odum
2. A. G. Tansley
3. E. Haeckel
4. R. Mishra
Options :
85133014625. 1
85133014626. 2
85133014627. 3
85133014628. 4

Question Number : 57 Question Id : 8513303660 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
THIGEH Weg, fhaH foar Ul -
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2. T Sl g
3.3 89d

4, AL AT
Options :
85133014625. 1
85133014626. 2
85133014627. 3
85133014628. 4



Question Number : 58 Question Id : 8513303661 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

In contrast to Aves, Mammals have

. synsacrum
. corpus callosum
mammary gland without teats

. ear pinna

m o N o>

. pneumatic bones
Choose the correct answer from the options given below

1. B and D only

2. A, B and D only
3. C, D and E only
4. A and E only
Options :
85133014629. 1
85133014630. 2
85133014631. 3
85133014632. 4

Question Number : 58 Question Id : 8513303661 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :
85133014629. 1
85133014630. 2
85133014631. 3
85133014632. 4

Question Number : 59 Question Id : 8513303662 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Match List | with List Il

List | List Ii
A. Stroma l. Vacuole membrane
B. Plasmodesmata II. Infoldings in mitochondria
C. Tonoplast Il Fluid inside Chloroplast
D. Cristae IV. Cytoplasmic connections

Choose the correct answer from the options given below:

1. A-(lI), B-(1), C-(1v), D-(I)
2. A-(l), B-(I), C-(lN), D-{IV)
3. A-(111), B-(IV), C-(1), D-{11)
4. A-(lIN), B-(In, C-(1), D-(1V)
Options :

85133014633. 1
85133014634. 2



85133014635. 3
85133014636. 4

Question Number : 59 Question Id : 8513303662 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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TLH-U,9-1L,9-1V, q-1
ZH-1,d-1L"H-1l, -1V
3H-M,d-1V,H-1,q-1l
4. -1l d-IL"H-1,q-IV
Options :

85133014633. 1
85133014634.2
85133014635.3
85133014636. 4

Question Number : 60 Question Id : 8513303663 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



A microbiologist identified salinity resistance gene in an actinomycete. Which of the following
plasmids can be used to generate salt-resistant crop using the bacterial gene?

A. Cry - Plasmid

B. BT - Plasmid

C. Ti - Plasmid

D. BAC - Plasmid

E. pET - Plasmid

Choose the correct answer from the options given below

1. B, C and D only
2. B only

3. C only

4. A CandEonly
Options :
85133014637. 1
85133014638. 2
85133014639. 3
85133014640. 4

Question Number : 60 Question Id : 8513303663 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :



85133014637. 1
85133014638. 2
85133014639. 3
85133014640. 4

Question Number : 61 Question Id : 8513303664 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:
Statements I: Neutral variation occurs due to point mutations in non-coding regions.
Statements lI: Neutral variation does not confer a selective advantage or disadvantage.

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both Statement | and Statement |l are correct

2. Both Statement | and Statement Il are incorrect

3. Statement | is correct but Statement Il is incorrect
4. Statement | is incorrect but Statement |l is correct
Options :

85133014641. 1

85133014642. 2

85133014643. 3

85133014644. 4

Question Number : 61 Question Id : 8513303664 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :

85133014641. 1

85133014642.2

85133014643. 3

85133014644. 4

Question Number : 62 Question Id : 8513303665 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

If E. coli is grown in the absence of lactose, it will stop the synthesis of

1. Ribonuclease

2. B-lactamase

3. B-galactosidase
4. Pyruvate kinase
Options :
85133014645. 1
85133014646. 2
85133014647. 3
85133014648. 4

Question Number : 62 Question Id : 8513303665 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :
85133014645, 1
85133014646, 2
85133014647. 3
85133014648, 4

Question Number : 63 Question Id : 8513303666 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Match List | with List Il

List | List II
A. P-wave I. Ventricular repolarization- relaxation phase
B. P-Rinterval |Il. The onset of ventricular depolarization - leads to

ventricular contraction

C. QRS complex |lIl. Time for the impulse to be conducted from SA
node to ventricles through the AV node

D. T- wave IV. Atrial depolarization - leads to atrial contraction

Choose the correct answer from the options given below:

A-(lI1), B-{IV), C-(11), D-{1)

A-(IV), B-(Il1), C-(11), D-{I)

A-(IV), B-(ll1), C-(1), D-(II)

4. A-(1), B-(11), C-{lI), D-{1V)
Options :

85133014649. 1
85133014650. 2
85133014651. 3
85133014652. 4

Question Number : 63 Question Id : 8513303666 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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1T.oH-l,d-1V,H -1, q-1
2H-IV, d-1L,H-1l,q-1
3H-IV,S-11L"-1, -1l
4. A-1,9-1L"H-1l, -1V
Options :

85133014649. 1
85133014650. 2
85133014651.3
85133014652. 4

Question Number : 64 Question Id : 8513303667 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which of the following has "anucleate” cells

1. Sieve tube elements
2. Xylem Parenchyma
3. Companion cells

4. Phloem Parenchyma
Options :

85133014653. 1
85133014654. 2
85133014655. 3
85133014656. 4

Question Number : 64 Question Id : 8513303667 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :

85133014653. 1

85133014654. 2

85133014655.3
85133014656. 4

Question Number : 65 Question Id : 8513303668 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Choose the correct statements

A. Length of the food chain is generally limited to 3-4 trophic levels due to energy loss.

B. Length of food chain depends upon the producer

C. In hydrarch succession, lichen is the pioneer community

D. Removal of most of the carnivores in an ecosystem results in an increased population of
deer

E. Removal of 80% of top carnivores results in greatly increased growth of vegetation

Choose the correct answer from the options given below

1. A B and C only
2.C, D and E only
3. A, D and E only
4. A B and D only
Options :
85133014657. 1
85133014658. 2
85133014659. 3
85133014660. 4

Question Number : 65 Question Id : 8513303668 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :
85133014657. 1
85133014658 2
85133014659. 3
85133014660. 4

Question Number : 66 Question Id : 8513303669 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Terrestrial life evolved from aquatic life due to

1. Development of extra-embryonic membranes
2. Development of glandular skin

3. Mcdification of appendages into limbs

4. High body temperature

Options :

85133014661. 1

85133014662. 2

85133014663. 3

85133014664. 4

Question Number : 66 Question Id : 8513303669 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :

85133014661. 1
85133014662. 2
85133014663. 3
85133014664. 4

Question Number : 67 Question Id : 8513303670 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

What is the secretory phase in the human menstrual cycle also called? How long does it last?

1. Luteal phase, four

2. Follicular phase, four

3. Follicular phase, fourteen
4. Luteal phase, fourteen
Options :

85133014665. 1
85133014666. 2
85133014667. 3
85133014668. 4

Question Number : 67 Question Id : 8513303670 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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1. T[T RN, 91

2. RN TR, IR
3. BIAeR 3faedl, 968
4. T[T a1, diGE
Options :

85133014665. 1
85133014666. 2
85133014667. 3
85133014668. 4



Question Number : 68 Question Id : 8513303671 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Arrange the steps of cell division in the correct order

. Cytokinesis
. Metaphase
Anaphase
. Telophase

m o N o>

. Prophase
Choose the correct answer from the options given below

1.EB. CAD
2.A B CDE
3.3EB.CDA
4 A B, CED
Options :

85133014669. 1
85133014670. 2
85133014671. 3
85133014672. 4

Question Number : 68 Question Id : 8513303671 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :

85133014669. 1
85133014670. 2
85133014671. 3
85133014672. 4

Question Number : 69 Question Id : 8513303672 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which hormone influences water absorption in the collecting tubules of the kidney?

1. Renin

2. Angiotensin
3. Aldosterone
4. Vasopressin
Options :

85133014673. 1
85133014674. 2
85133014675. 3
85133014676. 4

Question Number : 69 Question Id : 8513303672 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :
85133014673. 1
85133014674. 2
85133014675.3
85133014676. 4

Question Number : 70 Question Id : 8513303673 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Match List | with List Il

List | List I
A. Karan rai . Bacterial blight
B. Pusa Komal 1. Hill bunt
C. Himgiri Il. Leaf curl
D. Pusa Sadabahar V. White rust

Choose the correct answer from the options given below:

1. A=(1), B-(II), C-(IV), D-(lll

)
2. A-{IV), B-(1), C-(11), D-(111)
3. A-(l), B-(ll1y, C-(IN), D-{IV})
4. A-(lN), B-(), C-(1v), D-(1)
Options :

85133014677. 1
85133014678. 2
85133014679. 3
85133014680. 4

Question Number : 70 Question Id : 8513303673 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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1.H-1,d-1L"H-IV, c- 1l
2H-IV,d-1L, -1, g-1
3H-1,9-I,°9-1l,g-1V
4. A-11,94-1,"9-V, q-1l
Options :

85133014677. 1
85133014678. 2
85133014679. 3
85133014680. 4

Question Number : 71 Question Id : 8513303674 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Species found only in a given region and nowhere else in the world are called

A. Regiodemic

B. Demegraphic

C. Pandemic

D. Endemic

E. Epidemic

Choose the correct answer from the options given below

1. B only

2. B and E only

3. D only

4. A CandD only
Options :
85133014681. 1
85133014682. 2
85133014683. 3
85133014684. 4



Question Number : 71 Question Id : 8513303674 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :
85133014681. 1
85133014682. 2
85133014683. 3
85133014684 4

Question Number : 72 Question Id : 8513303675 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
During the biosynthesis of haemoglobin in sickle cell anaemic patients, CAC codon is
transcribed to

1. GUG

2. GAG

3. CAC

4. CUC
Options :
85133014685. 1
85133014686. 2
85133014687. 3
85133014688. 4



Question Number : 72 Question Id : 8513303675 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

e & I & I H R & Wg §%Iu0 H CAC B 9 § ®UrRd sidl & ;

1. GUG

2. GAG

3. CAC

4. CUC
Options :
85133014685. 1
85133014686. 2
85133014687. 3
85133014688. 4

Question Number : 73 Question Id : 8513303676 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Find out the correct statement(s)

A. Peristalsis is coordinated by the vagus nerve

B. When food enters into the stomach, the activity of salivary amylase stops due to pepsin

C. Deglutition centre is located in the floor of IV ventricle of the medulla oblongata

D. Absorption of cyanocobalamin takes place in the presence of intrinsic factor

E. Carboxypepitidase is a pancreatic endopeptidase that digests the peptides into amino acids
Choose the correct answer from the options given below

1. A, Cand D only
2. A, B and E only
3. A, B and D only
4. C, D and E only
Options :
85133014689. 1
85133014690. 2
85133014691. 3
85133014692. 4

Question Number : 73 Question Id : 8513303676 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :
85133014689 1
85133014690, 2
85133014691. 3
85133014692. 4

Question Number : 74 Question Id : 8513303677 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Identify the sequence of steps followed in linear electron flow during light reaction of
photosynthesis

A. Photoexcitation of Pygg and transfer of an electron to NADP™ via ferredoxin

B. Photolysis of H,O

C. Chemiosmosis and generation of ATP

D. Photoexcitation of Pggg and release of an electron.

E. Electron transport to plastocyanin from plastoquinone via cytochrome complex
Choose the correct answer from the options given below

1.ED,C B A
2.B. D CAE
3.0,B,EECA
4 A B, CDE
Options :

85133014693. 1



85133014694. 2
85133014695. 3
85133014696. 4

Question Number : 74 Question Id : 8513303677 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :

85133014693. 1
85133014694. 2
85133014695. 3
85133014696. 4

Question Number : 75 Question Id : 8513303678 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Maximum species abundance occurs at which latitude?

1. 41°

LAl & b

3. 23°

4, 52°

Options :
85133014697. 1
85133014698. 2



85133014699. 3
85133014700. 4

Question Number : 75 Question Id : 8513303678 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Yaiite Wiy 9= ard tcleds o 98- oY -

1. 41°

il ke

3. 23°

4, 52°

Options :
85133014697. 1
85133014698. 2
85133014699. 3
85133014700. 4

Question Number : 76 Question Id : 8513303679 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which of these happen(s) in muscle contraction?

A. Increase in Ca™~ concentration level leads to the binding of calcium with a subunit of
troponin on actin filaments and thereby removes the masking of active sites for myosin.

B. During shortening of the muscle, A-bands get reduced, whereas, the |-bands retain the
length

C. A muscle fibre is a syncytium

D. Isotropic band of a myofibril consists of myosin

Choose the correct answer from the options given below

1. A and B only

2. A and C only

3. A, B and Conly
4. D only

Options :
85133014701. 1
85133014702. 2
85133014703. 3
85133014704. 4



Question Number : 76 Question Id : 8513303679 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :
85133014701. 1
85133014702. 2
85133014703. 3
85133014704. 4

Question Number : 77 Question Id : 8513303680 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Match List | with List Il

List | List Il
A. Phallomere . Intestine
B. Typhlosole IIl. Genitalia
C. Dikaryon . Algae
D. Chloroplast V. Fungi

Choose the correct answer from the options given below:

A-(Il), B-(1), C-
A-(I1), B-(1), C-(1II),
A-(1), B-(1), C-

4. .l'i'-.—(I"-.n“], B-(111),
Options :
85133014705. 1
85133014706. 2
85133014707. 3
85133014708. 4

1):

A
!

Question Number : 77 Question Id : 8513303680 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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2=, d-[H-1l, -1V
3H-1,d-1L"H-IV, g- 1l
4. -, d-1L"H-1, q-Il
Options :

85133014705. 1



85133014706. 2
85133014707. 3
85133014708. 4

Question Number : 78 Question Id : 8513303681 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which property of the water molecule enables it to function as a moderator of temperature for
living organisms?

A. High specific heat
B. High heat of vaporization
Select the correct option from the following :

1. A only

2. B only

3. Both Aand B

4. Neither A nor B
Options :
85133014709. 1
85133014710. 2
85133014711. 3
85133014712. 4

Question Number : 78 Question Id : 8513303681 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :




85133014709. 1
85133014710. 2
85133014711.3
85133014712. 4

Question Number : 79 Question Id : 8513303682 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Regarding the identification of plants and animals, keys are prepared on the basis of similarity
and dissimilarity of characters. Which of the following are correct about keys?

A. Contrasting characters generally occur in a pair called a couplet

B. A choice made between two similar options resulting in accepting of only one and rejecting
the other

C. Each statement in the key is known as a lead

D. Keys are generally analytic in nature

E. Key is the collection of plants

Choose the correct answer from the options given below

1. A and B only

2. B and E only

3. B and D only

4. A CandD only
Options :
85133014713. 1
85133014714. 2
85133014715.3
85133014716. 4

Question Number : 79 Question Id : 8513303682 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :
85133014713, 1
85133014714. 2
85133014715. 3
85133014716. 4

Question Number : 80 Question Id : 8513303683 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statements |: Sewage discharge in a flowing river causes a decrease in biochemical oxygen
demand (BOD) due to biodegradation of organic matter by microbes. This leads to the
mortality of fish and other aquatic creatures.

Statements ll: Sewage discharge in a flowing river causes a sharp increase in dissclved oxygen
(DO) downstream from point of discharge due to increased consumption of DO by microbes.
This leads to the mortality of fish and other aquatic creatures.

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both Statement | and Statement |l are correct

2. Both Statement | and Statement Il are incorrect

3. Statement | is correct but Statement Il is incorrect
4. Statement | is incorrect but Statement |l is correct
Options :

85133014717. 1

85133014718. 2

85133014719. 3

85133014720. 4

Question Number : 80 Question Id : 8513303683 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :

85133014717. 1

85133014718. 2

85133014719. 3

85133014720 4

Question Number : 81 Question Id : 8513303684 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Match List | with List Il

List | List 11
A. Homologous . Convergent evolution
B. Paralogous |l. Speciation
C. Analogous lll. Gene duplication
D. Orthologous V. Divergent evolution

Choose the correct answer from the options given below:

A-(1), B-(I), C-(1N), D~{
A-(IV), B-(lll), C-{1), D
A-(llT), B-(1), C-(IV), D-
4. A-(I0), B-(), C-(11), D-{
Options :

85133014721. 1
85133014722.2
85133014723.3
85133014724. 4

-
g

Question Number : 81 Question Id : 8513303684 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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3H-,d- 1L, 8-V, -l
4. 3-1l,d-1, -1l g-IV
Options :

85133014721. 1



85133014722.2
85133014723.3
85133014724. 4

Question Number : 82 Question Id : 8513303685 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Which of the following is true for the F - factor, a double-stranded closed circular plasmid
DMNA?

1. It can only exit autonomously

2. it can either exist autonomously or can integrate into the host chromosome
3. It is confined to the cytoplasm of bacterial cells

4. It can integrate into the host chromosomes

Options :

85133014725. 1

85133014726.2

85133014727. 3

85133014728. 4

Question Number : 82 Question Id : 8513303685 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :

85133014725. 1

85133014726. 2

85133014727. 3

85133014728. 4

Question Number : 83 Question Id : 8513303686 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Which one of the following is a sesamoid bone?

1. Humerus

2. Pterygoid processes
3. Quadrate

4. Patella

Options :

85133014729. 1
85133014730. 2
85133014731.3
85133014732. 4

Question Number : 83 Question Id : 8513303686 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :

85133014729. 1

85133014730. 2

85133014731.3

85133014732. 4

Question Number : 84 Question Id : 8513303687 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Select all routes possible for the transport of water and minerals from root hair to the xylem

A. Transmembrane route

B. Symplastic route

C. Apoplastic route

D. Stomatal route

E. Endodermis route

Choose the correct answer from the options given below

1. A B, Cand E only
2.B,C, D and E only
3. A, B, Cand D only
4 A B DandEonly
Options :
85133014733. 1
85133014734.2
85133014735. 3
85133014736. 4

Question Number : 84 Question Id : 8513303687 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
TR U &% d ofd a4l Taull & JdIg &I JF1 HH 90 $N ;

¥, cigHsH |

9. Fgraraies Ar
. TuRe s AR

. 3y HF

7. ef=agH 11

el [dmediy IR 9 -

1.Had g gaurg
2. hads 9, 5dUlg

3. Haa A 9 aulg
4 $Hda 3 9 aury
Options :

85133014733. 1
85133014734.2



85133014735.3
85133014736. 4

Question Number : 85 Question Id : 8513303688 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Arrange the following in an order, starting from first trophic level

. Cyclops

. Spirogyra
Cat fish

. Pelican

m o N o>

. Small fish

Choose the correct answer from the options given below

1.A, B, CD,E
2.B.ACDE
3.BBAECD
4B A EDC
Options :

85133014737. 1
85133014738.2
85133014739. 3
85133014740. 4

Question Number : 85 Question Id : 8513303688 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :

85133014737. 1
85133014738. 2
85133014739.3
85133014740. 4

Question Number : 86 Question Id : 8513303689 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

In comparison to Annelids, Platyhelminthes exhibit

1. Pseudocoel

2. Radial symmetry
3. Bilateral symmetry
4. No body cavity
Options :
85133014741. 1
85133014742.2
85133014743. 3
85133014744. 4

Question Number : 86 Question Id : 8513303689 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :
85133014741, 1
85133014742, 2
85133014743. 3
85133014744 4

Question Number : 87 Question Id : 8513303690 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Prokaryotic flagella are made up of protein filaments composed of

1. Flagellin

2. Tubulin

3. Actin

4. Myaosin
Options :
85133014745. 1
85133014746. 2
85133014747. 3
85133014748. 4

Question Number : 87 Question Id : 8513303690 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :
85133014745. 1
85133014746. 2
85133014747. 3
85133014748. 4




Question Number : 88 Question Id : 8513303691 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Select all correct matches of disease and its causative agent

A. Leprosy — Mycobacterium bovis

B. Chancroid — Haemophilus ducreyi

C. Anthrax — Bacillus subtilus

D. Foed poisoning — Clostridium perfringens

E. Syphilis — Treponema pallidum

Choose the correct answer from the options given below

1. A, Cand D only
2. B, D and E only
3. C, D and E only
4. A B and D only
Options :
85133014749. 1
85133014750. 2
85133014751.3
85133014752. 4

Question Number : 88 Question Id : 8513303691 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :
85133014749, 1
85133014750. 2
85133014751. 3
85133014752 4

Question Number : 89 Question Id : 8513303692 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Restriction enzymes that produce cohesive ends can be used for

1. Blunt-end cloning

2. End- to- end cloning
3. Translation

4. Transcription
Options :

85133014753. 1
85133014754.2
85133014755.3
85133014756. 4

Question Number : 89 Question Id : 8513303692 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :
85133014753. 1
85133014754.2
85133014755. 3
85133014756. 4

Question Number : 90 Question Id : 8513303693 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Post-transcriptional modifications in eukaryotes include

1. Polyadenylation, capping, coding
2. Capping, splicing, coding

3. Coding, splicing, polyadenylation
4. Capping, splicing, polyadenylation
Options :

85133014757. 1

85133014758. 2

85133014759. 3

85133014760. 4

Question Number : 90 Question Id : 8513303693 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
gaigied d cigfmuzH ¥ Fafaiad siar s -

2. I, TICSRAT, SIS

3. BITST], TS, Taa e
4, BT, TSR, Uieiua e
Options :

85133014757. 1

85133014758. 2

85133014759. 3

85133014760. 4




Question Number : 91 Question Id : 8513303694 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Important differences between C3 and C4 plants are

1. Kranz anatomy

2. Electron Transport System

3. Dimorphic chloroplasts

4. Cyclic photophosphorylation

5. Light reaction

Choose the correct answer from the options given below

1. A and B only
2. A and C only
3. A and D only
4. A and E only
Options :
85133014761. 1
85133014762. 2
85133014763. 3
85133014764. 4

Question Number : 91 Question Id : 8513303694 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :
85133014761 1
85133014762. 2
85133014763. 3
85133014764. 4

Question Number : 92 Question Id : 8513303695 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Match List | with List Il

List | List 1l
A. Lysosome . Cisternae
B. Peroxisome Il rRNA
C. Golgi apparatus 1I. H0;
D. Nucleolus IV. Suicide bag

Choose the correct answer from the options given below

A-(IV), B-(lI1), C-(1), D-(11)

A-(IV), B-(1), C-(li1}, D-(1N)

A-(I1), B-(1), C-(111), D-(IV)
4. A-{1), B-{I1), C-{1u1), D-(1V)
Options :

85133014765. 1
85133014766. 2
85133014767. 3
85133014768. 4

Question Number : 92 Question Id : 8513303695 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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A -1, d-1L"H-1l, g-1V
Options :

85133014765. 1



85133014766. 2
85133014767. 3
85133014768. 4

Question Number : 93 Question Id : 8513303696 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Given below is a list of microbes and their use as biofertilizer or biopesticide -

A. Mycobacterium leprae- phosphorus fixation

B. Nostoc- nitregen fixation

C. Tuberculina maxima-white pine blister rust

D. Azotobactor- compost enhancement

E. Sphaerotheca fuliginea- cucumber powdery mildew
Choose the correct answer from the options given below

1. A B and C only
2. B, C and D only
3.C, D and E only
4. A DandE only
Options :
85133014769. 1
85133014770. 2
85133014771. 3
85133014772. 4

Question Number : 93 Question Id : 8513303696 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :
85133014769. 1
85133014770. 2
85133014771. 3
85133014772. 4

Question Number : 94 Question Id : 8513303697 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

In which of the following organisms do blastopores develop inte the anus?

A. Balanoglossus

B. Apis

C. Limulus

D. Pristis

E. Chaetoderma

Choose the correct answer from the options given below

1. B and C only
2.C, D and E only
3. A and D only
4. A and E only
Options :
85133014773. 1
85133014774. 2



85133014775.3
85133014776. 4

Question Number : 94 Question Id : 8513303697 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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1. Haad g g
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Options :
85133014773. 1
85133014774. 2
85133014775. 3
85133014776. 4

Question Number : 95 Question Id : 8513303698 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:
Statement I: The end products of Electron Transport System (ETS) are ATP and H3O.
Statement II: ETS begins with a reduction of NADH+H™ and ends with the oxidation of O;.

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both Statement | and Statement |l are correct

2. Both Statement | and Statement Il are incorrect

3. Statement | is correct but Statement 1l is incorrect
4. Statement | is incorrect but Statement |l is correct

Options :

85133014777. 1
85133014778. 2
85133014779. 3
85133014780. 4

Question Number : 95 Question Id : 8513303698 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :

85133014777. 1
85133014778. 2



85133014779. 3
85133014780. 4

Question Number : 96 Question Id : 8513303699 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Arrange the following steps of Glycolysis, starting from first to last

A. Glyceraldehyde-3-phosphate — 1,3-bis phosphoglyceric acid
B. Fructose-6-phosphate — Fructose-1,6-bisphosphate

C. Glucose — Glucose-6-phosphate

D. 3-Phosphoglyceric Acid — 2-Phosphoglycerate

E. Phosphoenol pyruvate — Pyruvic Acid

Choose the correct answer from the options given below

1.C,EADB
2.C,DAEB
3.C,BADE
4. C A B D, E
Options :

85133014781. 1
85133014782.2
85133014783.3
85133014784. 4

Question Number : 96 Question Id : 8513303699 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :
85133014781. 1
85133014782. 2
85133014783.3
85133014784. 4

Question Number : 97 Question Id : 8513303700 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
A drop of each of the following is placed separately on four slides. Which one of them will
NOT coagulate?

1. Whole blood from pulmonary vein

2. Blood plasma

3. Blood serum

4. Sample from the thoracic duct of the lymphatic system
Options :

85133014785. 1

85133014786. 2

85133014787. 3

85133014788. 4

Question Number : 97 Question Id : 8513303700 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :

85133014785. 1

85133014786. 2

85133014787.3
85133014788. 4

Question Number : 98 Question Id : 8513303701 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Genetic diversity

A. helps in the formation of polymerph

B. helps in speciation

C. is diversity of habitat

D. is diversity due to replacement of species within the habitat
E. is useful in adaptation to changes in environment

Choose the correct answer from the options given below

1. A B and E only
2. B, C and D only
3. C, D and E only
4. A B and D only
Options :
85133014789. 1
85133014790. 2
85133014791. 3
85133014792. 4

Question Number : 98 Question Id : 8513303701 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :
85133014789. 1
85133014790. 2
85133014791. 3
85133014792. 4

Question Number : 99 Question Id : 8513303702 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
In which of the following family types, does the ovary have lobes and the style emerges from
the depressions of the ovary lobes?

1. Brassicaceae
2. Apocynaceae
3. Asteraceae
4. Lamiaceae
Options :
85133014793. 1
85133014794. 2
85133014795. 3
85133014796. 4

Question Number : 99 Question Id : 8513303702 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :
85133014793. 1
85133014794. 2
85133014795.3
85133014796. 4

Question Number : 100 Question Id : 8513303703 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Match List | with List Il

List | List 1
A. Acrosome l. Gonadotropin
B. Corpus luteum Il. Hyaluronidase
C. Leydig cells I1l. Estrogen
D. Hypothalamus |V, Testosterone

Choose the correct answer from the options given below:

1. A-(1), B-(ll1), C-(1), D-(IV)
2. A-(II), B-(lIN), C-(IV), D-(1)
3. A-(lI1), B~(I1), C-(IV), D-(1)

( (IV)

Options :

85133014797. 1
85133014798. 2
85133014799. 3
85133014800. 4

Question Number : 100 Question Id : 8513303703 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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4. -1, d-1L"°9-1,g-IV
Options :

85133014797. 1
85133014798. 2
85133014799. 3
85133014800. 4

[
[

Part III Chemistry 4
Section Id : 85133047
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 50
Number of Questions to be attempted : 50
Section Marks : 200
Display Number Panel : Yes
Group All Questions : Yes
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 85133051
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 8513303704 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Salvarsan was discovered by Paul Ehrlich for the treatment of

1. Fever

2. Depression
3. Allergy

4. Syphilis
Options :
85133014801. 1
85133014802. 2
85133014803. 3
85133014804. 4

Question Number : 101 Question Id : 8513303704 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Ofd Ugfad - Seaegd ol Giel s SUER & v st ff 98 §

1. §UR (wR)
2. HdHlg

3. Tt

4. ey
Options :
85133014801. 1
85133014802. 2
85133014803. 3
85133014804. 4

Question Number : 102 Question Id : 8513303705 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



The structure of Saccharin is

Options :

85133014805. 1
85133014806. 2
85133014807. 3
85133014808. 4

Question Number : 102 Question Id : 8513303705 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :
85133014805. 1
85133014806. 2

85133014807. 3
85133014808. 4

Question Number : 103 Question Id : 8513303706 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The correct structure of the repeat unit of neoprene is

Hz | Ha
3 B, Vool S
—ﬁc ¢ cﬁ—
cl
Cl
Hz Ha
4 fc—c-c

Options :

85133014809. 1
85133014810. 2
85133014811. 3



85133014812. 4

Question Number : 103 Question Id : 8513303706 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :

85133014809. 1
85133014810. 2
85133014811. 3
85133014812. 4

Question Number : 104 Question Id : 8513303707 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Terylene is prepared by the condensation of Ethylene glycol with

1. benzene-1,2-dicarboxylic acid
benzene-1,3-dicarboxylic acid
benzene-1,4-dicarboxylic acid

BoWN

benzoic acid
Options :

85133014813. 1
85133014814. 2
85133014815.3
85133014816. 4

Question Number : 104 Question Id : 8513303707 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :
85133014813. 1
85133014814. 2
85133014815.3
85133014816. 4

Question Number : 105 Question Id : 8513303708 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

One letter code for Tyrosine, an amino-acid is

1. F

i

3. Y

4 P

Options :
85133014817. 1
85133014818. 2
85133014819. 3
85133014820. 4

Question Number : 105 Question Id : 8513303708 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :
85133014817. 1
85133014818. 2
85133014819. 3
85133014820. 4



Question Number : 106 Question Id : 8513303709 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
‘The product {major) formed in the given organic reaction:

o\ ethanolic KOH

p e

A s
o

MK

0
COOK

[\_l

COOK

©/CUNHE
CONH3
CONH;
Options :
85133014821. 1
85133014822. 2

85133014823.3
85133014824. 4

b

Question Number : 106 Question Id : 8513303709 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :

85133014821. 1
85133014822. 2
85133014823.3
85133014824. 4

Question Number : 107 Question Id : 8513303710 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Identify the most basic compound in the given options.

1. N-Methyl aniline

2. Phenylmethanamine
3. Ethanamine

4. N,N-Dimethyl aniline
Options :

85133014825. 1
85133014826. 2
85133014827. 3
85133014828. 4

Question Number : 107 Question Id : 8513303710 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option



Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1
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Options :

85133014825. 1
85133014826. 2
85133014827.3
85133014828. 4

Question Number : 108 Question Id : 8513303711 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Which one of the following does NOT give positive Fehling's test?

1. Ethanal

2. Butanal

3. Benzaldehyde

4. Cyclopentanecarbaldehyde
Options :

85133014829. 1

85133014830. 2

85133014831. 3

85133014832. 4

Question Number : 108 Question Id : 8513303711 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :

85133014829. 1
85133014830. 2




85133014831. 3
85133014832. 4

Question Number : 109 Question Id : 8513303712 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The compound given below is called as a

1. Catechol

2. Resorcinol

3. Hydroguinone
4. Cresol
Options :
85133014833. 1
85133014834. 2
85133014835. 3
85133014836. 4

Question Number : 109 Question Id : 8513303712 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

1. Bedlia

2. faifATa
4, B
Options :
85133014833. 1
85133014834. 2
85133014835. 3
85133014836. 4

Question Number : 110 Question Id : 8513303713 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical



Correct Marks : 4 Wrong Marks : 1

For the given organic reaction:

MazCrz0r
Hz504

{ D

‘A’ (Final major product) is

R=s
G
£
=

Options :

85133014837. 1
85133014838. 2
85133014839. 3
85133014840. 4

Question Number : 110 Question Id : 8513303713 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :
85133014837. 1
85133014838. 2
85133014839. 3
85133014840. 4

Question Number : 111 Question Id : 8513303714 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which among the following methyl halides has the highest dipole moment?

1. CH3-F

2. CH3-Cl

3. CH3-Br

4, CHz-l
Options :
85133014841. 1



85133014842.2
85133014843.3
85133014844. 4

Question Number : 111 Question Id : 8513303714 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Hd feu 7 AfYe gargel 4 94 gales ®l 94 Sifag fogml 15 Yd Y0 3wiad o

1. CH3-F

2. CH3-Cl

3. CH3-Br

4, CHz-l
Options :
85133014841. 1
85133014842. 2
85133014843. 3
85133014844. 4

Question Number : 112 Question Id : 8513303715 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



The correct structure of DDT is
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Options :

85133014845. 1
85133014846. 2
85133014847.3
85133014848. 4

Question Number : 112 Question Id : 8513303715 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :

85133014845. 1
85133014846. 2
85133014847.3
85133014848. 4

Question Number : 113 Question Id : 8513303716 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Number of sigma (g) and pi (mr) bonds present in the given molecule, respectively, are

NC CCh

HzM CH

C=¢cH

1. 23 sigma and 5 pi
2. 24 sigma and 5 pi
3. 24 sigma and 9 pi
4. 25 sigma and 9 pi
Options :
85133014849. 1
85133014850. 2
85133014851.3
85133014852. 4

Question Number : 113 Question Id : 8513303716 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

i fog T o0 & Fa (o) JUT TS () TS @1 T80T 59 & -

NC CCh

Hzh CH

C==cH
1. 230 and 5m
2. 24ag and 57
3. 240 and 9m
4, 2570 and 9m
Options :
85133014849. 1
85133014850. 2
85133014851. 3
85133014852. 4

Question Number : 114 Question Id : 8513303717 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical



Correct Marks : 4 Wrong Marks : 1

The stationary and mobile phases used in paper chromatography are mainly

1. Solid and liquid respectively
2. Liquid and liquid respectively
3. Liquid and gas respectively
4. Solid and gas respectively
Options :

85133014853. 1

85133014854.2

85133014855.3

85133014856. 4

Question Number : 114 Question Id : 8513303717 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
BRTSIgUicRa H g e aul Miaiic Waeiid 980 ¥4 U &, HHg: :

1. 3 qUTgd
2. ad dylgd
3. g3 ayr g
4, 3G qUT T
Options :
85133014853. 1
85133014854. 2
85133014855. 3
85133014856. 4

Question Number : 115 Question Id : 8513303718 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Among the following, the most reactive compound towards NaNH3 is

1. 2-Butyne

2. 2-Butene

3. 1-Butyne

4. 1-Butene
Options :
85133014857. 1
85133014858. 2
85133014859. 3



85133014860. 4

Question Number : 115 Question Id : 8513303718 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Fufafad 59 NaNH, & Uid it HfifmaEic 3 & -

1. 2 - iz
2 - &2
.1 -&HcIgd
1-&SH
Options :
85133014857. 1
85133014858.2
85133014859. 3
85133014860. 4

ESENTON

Question Number : 116 Question Id : 8513303719 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The number of hydrogen atoms bonded to 1°, 2° and 3° carbons respectively in the given
organic compound are

kK

1. 18,
2. 18,
3. 20,
4.18,
Options :

85133014861. 1
85133014862. 2
85133014863. 3
85133014864. 4
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[w)]
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O

Question Number : 116 Question Id : 8513303719 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Jid fou T wEFE dife T 10, 2° 941 3° Plad O HEEd seale- WA & O &

Ak

1.18, 4,0
2.18,6,0
3.20,6,2
4.18,4, 2
Options :
85133014861. 1
85133014862. 2
85133014863. 3
85133014864. 4

Question Number : 117 Question Id : 8513303720 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
In the following reaction:

4HCl + MnO, — = 2H,0 + MnCl, + Cl

2]

How many gram of manganese dioxide react with 7.3 g of HCL.
(Atomic weight of Mn is 55)

1.0.23

2. 485

3.435

4.5.18
Options :
85133014865. 1
85133014866. 2
85133014867. 3
85133014868. 4

Question Number : 117 Question Id : 8513303720 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



g arfiufear o

4HCl + MnO, — » 2H,0 + MnCl, + Cl

2]

IS SIS S &1 fdadH U1, 7.3g HCL.S 91y SifHfdhar e am
(Mn 1 UZHI] -H8fd & 55)

1.0.23

2. 485

3. 4.35

4,518
Options :
85133014865. 1
85133014866. 2
85133014867. 3
85133014868. 4

Question Number : 118 Question Id : 8513303721 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Match List | with List 11

List | List I
Frequency region Uses
. Radiofrequency A. Radar
Il. Microwave B. Broadcast
lIl. Infra-red region C. Heating

Choose the correct answer from the options given below

1. I-B; 1I-A; IN-C
2. |-A; 11-B; 1I-C
3. I-A; 1I-C; [I-B
4. I-B; I-C; 1lI-A

Options :

85133014869. 1
85133014870. 2
85133014871. 3



85133014872. 4

Question Number : 118 Question Id : 8513303721 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

®IoH | 1 a8 T8 gl &3 Bl srad 11 | 158 18 39 SurT 4 gaicd siferd

GAREE GAGEA]

EIEEIEICE] A. TSR

1. AISHdd B. TR
1. 3aad &F C. dmH

el fdaed @ -

1. 1-B; 1I-A; 1II-C

2. 1-A: 11-B; NI-C

3. I-A; 11-C: 11I-B

4, 1-B; I1-C; IlI-A

Options :

85133014869. 1
85133014870. 2
85133014871. 3
85133014872. 4

Question Number : 119 Question Id : 8513303722 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Neon, Krypton and Xenon were discovered by

1. Henry Moseley

2. Glenn T. Seaborg
3. Dmitri Mendeleev
4. Ramsay

Options :
85133014873. 1
85133014874. 2
85133014875.3
85133014876. 4

Question Number : 119 Question Id : 8513303722 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option



Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

faifT, foepla quT A &1 @i

1. BRI AT A B

2. 4 €1, TiaTs 5 B
3. SHEl Hacila 4 @l
4 GBI

Options :
85133014873. 1
85133014874. 2
85133014875.3
85133014876. 4

Question Number : 120 Question Id : 8513303723 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Identify the INCORRECT statement/condition for hybridization.

1. The orbitals present in the valence shell of the atom are hybridized.

2. The orbitals undergoing hybridization should have almost equal energy.
3. Promotion of electron is essential condition prior to hybridization,

4. It is not necessary that only half-filled orbitals participate in hybridization.
Options :

85133014877. 1

85133014878. 2

85133014879. 3

85133014880. 4

Question Number : 120 Question Id : 8513303723 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
0 P [T 7Teid Y / 2 B UgdH B -

1. U¥HIY] & Ggioided] BN (o9 4) H 3uRYd Sai@ ol 9eidd gid o
2. U BRI DEDI Bl Holl THTH SRI&R giH1 dNeg|

3. YB0T & Ud SaideH| &1 UIFAd 8H1 AT ¢

4. T8 TGS ol @I haa Y GRd Dafd gl beol J FiEfed o
Options :

85133014877. 1

85133014878. 2




85133014879. 3
85133014880. 4

Question Number : 121 Question Id : 8513303724 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Number of hydrogen bonded and coordinated water molecules associated with CuSO4.5H;0,
respectively are

1. 2and 3

2. 3and2
3.4and 1

4. 1and 4
Options :
85133014881. 1
85133014882. 2
85133014883. 3
85133014884. 4

Question Number : 121 Question Id : 8513303724 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
CuS04.5H,0 T Tafdd - gl sler Sfiafd qur gaf-ad ofd Ul & & HU: ¢ -

1.2d43

2.3 dyr2
3.4 dUl

4.1 dulr4
Options :
85133014881. 1
85133014882. 2
85133014883. 3
85133014884. 4

Question Number : 122 Question Id : 8513303725 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



MgCl; and LiCl are deliquescent and crystallized from aqueous solution, as their hydrates,
MgClz.XH30 and LiCLYH,0.

X and Y respectively are

1.2and 8
2.8and?2
3.2and 2
4.8and8
Options :
85133014885. 1
85133014886. 2
85133014887.3
85133014888. 4

Question Number : 122 Question Id : 8513303725 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
MgCl, TYT LiCl T8I dTel § 9T 3104 Blgae MgCly.XH,0 YT LiCl.YH,0 & &4 H Seilg [aagq
Y pefod B oI 81 X qUT Y FH: §

1.2dul 8
2.8dur2
3.2dul2

4. 8d4rs
Options :
85133014885. 1
85133014886. 2
85133014887. 3
85133014888. 4

Question Number : 123 Question Id : 8513303726 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



The alkali metals react with liquid ammonia and liberate hydregen resulting in the formation
(mainly) of

1. Imide
2. Amide
3. Amine
4. Azide
Options :
85133014889. 1
85133014890. 2
85133014891. 3
85133014892. 4

Question Number : 123 Question Id : 8513303726 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
&R YT 5d A1 Y HHihar ! § 7Yl SR ale Jodivid Hdl o fordd YR ey 33
TOY AT

1. RHIZS

2. UHTES

3. UHH

4. T9Igs
Options :
85133014889. 1
85133014890. 2
85133014891. 3
85133014892. 4

Question Number : 124 Question Id : 8513303727 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The common name of compounds and their formula are given below as pairs. Identify the
INCORRECT pair.

1. Quick lime - Ca0

2. Slaked lime - Ca({OH)>
3. Caustic Soda - NaOH

4, Soda Ash - Na>CC3.H;0
Options :



85133014893. 1
85133014894. 2
85133014895. 3
85133014896. 4

Question Number : 124 Question Id : 8513303727 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
gifite] & GE A8 Y1 30 93 Ue §F & ©0 & A Gl T 8| Tad TH &1 gdH Do -

1. T =01 91 - Ca0

2. 91 9T - Ca(OH);

3. BIfEed YIS - NaOH

4, GIST &R - Na;CO3.H:0
Options :

85133014893 1
85133014894, 2
85133014895, 3
85133014896. 4

Question Number : 125 Question Id : 8513303728 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Identify A and B in the following reaction

A A
H'lBD'j T 4 _— B
> 31T0 K

4. A =BHz; B =HBO;
Options :

85133014897. 1
85133014898. 2
85133014899. 3
85133014900. 4

Question Number : 125 Question Id : 8513303728 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



g aififerar & A auT e &I U=y -
A

H3BO;

30K

1.4 =HBO; B=B:0;
2. A=BH;y B=B0:
3.A=B8;0; B=HBO;
4. A =BH; B=HBO:
Options :

85133014897. 1
85133014898. 2
85133014899. 3
85133014900. 4

Question Number : 126 Question Id : 8513303729 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The crystal structure of white tin is

1. Tetragonal

2. Cubic

3. Hexagonal

4. Orthorhombic
Options :
85133014901. 1
85133014902. 2
85133014903. 3
85133014904. 4

Question Number : 126 Question Id : 8513303729 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Yibe o 3l fobeed WA A1 ¢ 2

1. GIEHE
2. Y-

3. Yealulig
4, faumCTEaTE
Options :
85133014901. 1
85133014902. 2



85133014903. 3
85133014904. 4

Question Number : 127 Question Id : 8513303730 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which one of the following chemical reactions does NOT occur in a blast furnace during the
extraction of iron?

1. SFE:DS + CO S S 2FE304 =+ (?Dz
2. 2Fe;O0y + CO ______ . 3Fe,0; + 3CO,

3. FeO + CO —  » Fe + CO,
4. FeO + C — . Fe + CO
Options :

85133014905. 1
85133014906. 2
85133014907. 3
85133014908. 4

Question Number : 127 Question Id : 8513303730 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
HORA & Byl & o0 areyg] | 811 arell ol T Aufbai Tad e : 98 6 -

1. SFE:DS + CO - 2FE304 =+ (.‘D:
2.2Fe;0y + CO _______, 3Fe,0; + 3CO,

3. FeO + CO —  » Fe + CO,
4. FeO + C — . Fe + CO
Options :

85133014905. 1
85133014906. 2
85133014907. 3
85133014908. 4

Question Number : 128 Question Id : 8513303731 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Which one of the given hydrides of group 15 elements has the lowest boiling peoint?

1. NH3

2. PH3

3. AsHs

4. SbH»
Options :
85133014909. 1
85133014910. 2
85133014911. 3
85133014912. 4

Question Number : 128 Question Id : 8513303731 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
79 15 ddl & elsalgel 4 ¥ [budl dyHis Hyad g 2

1. NH3

2. PH3

3. AsH3

4. SbH;
Options :
85133014909. 1
85133014910. 2
85133014911. 3
85133014912. 4

Question Number : 129 Question Id : 8513303732 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Choose the correct option for Mn>O7, CrO3 and V05 from the following

1. Mnz07, CrO3 and V205 are acidic

2. CrO3 is acidic while Mn207 and V205 are basic
3. V205 is acidic while CrO3 and MnzO7 are basic
4. Mn>07, CrQ3 and V>0s5 are basic

Options :

85133014913. 1

85133014914.2

85133014915.3

85133014916. 4



Question Number : 129 Question Id : 8513303732 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
99 T Mn,05, Cro; YT V,05 & ot Tg! f[dded U ;

1. Mn>04, CrO; T4T V>0s 3R B

2. CrO; 1T § 9d @1 Mn>O7 a4 Vo005 &R B
3. V>0s 3 & 9id fd CrO; 3uT Mn,0O- &R B
4. Mn;0, CrO; T4T V205 BRI B

Options :

85133014913, 1

85133014914. 2

85133014915. 3

85133014916. 4

Question Number : 130 Question Id : 8513303733 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Given

(s

C
X:(® X@ X@———™ X@g

Where Ag4;..H® — dissociation enthalpy; A,,,H® — sublimation enthalpy;
A, H® — lonisation enthalpy; :j.,_.gHE‘ — electron gain enthalpy;
Bpyd H® — hydration enthalpy and Aj,.H® = lattice enthalpy

Select the correct option from the following

1. A= Agis:H®, B = A H®, C = ApyeH®
2. A=AuH®, B = A H®. C = ApyaH®
3. A= Ag.®, B = A.H®, C = AjH®
4. A= AgpH®. B = A H®, C = ApygH®
Options :

85133014917. 1
85133014918. 2
85133014919. 3
85133014920. 4



Question Number : 130 Question Id : 8513303733 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
fearmar g -

A

B C
Xa(g) X@ — = X(@— - X(g

Where Ay, H? — dissociation enthalpy; A,,,H® — sublimation enthalpy;
A; H® — lonisation enthalpy; A, H® — electron gain enthalpy;

BApyd H® — hydration enthalpy and Aj,.H® = lattice enthalpy

Frafaiad 4 ¥ us! fasey 9T :

1. A= Agi:.HE. B = A H®, C = ApyaH®

2. A=Agnll®, B = A H®, C = ApyqH®
3. A= &djggH@. B = &EEH[EI C = &1gnH®
4 A=AzzHY, B = AH®, C = ApyaH®

Options :

85133014917. 1
85133014918. 2
85133014919. 3
85133014920. 4

Question Number : 131 Question Id : 8513303734 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The correct electronic configuration of Xe is

1. [Ar]4d? 552 5p°
2. [Kr]3d'? 4s% 4p®
3. [Kr}4d 19 55° 5p°®
4, [Ar]3d 0 45% 4pF
Options :
85133014921. 1
85133014922. 2
85133014923. 3
85133014924. 4



Question Number : 131 Question Id : 8513303734 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Xe @1 Gg| Scideli-d [a-a19 ¢ -

Options :

85133014921. 1
85133014922.2
85133014923. 3
85133014924. 4

Question Number : 132 Question Id : 8513303735 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

When V105 reacts with alkalies and acids, ........X...... and .....Y......are formed respectively.
XandY are

1. X =V0,>, Y=Vvo¥
2. X =V0s", Y =VOu
3. X =V0s*, Y =VOs
4.X=V0O%, Y=V503
Options :

85133014925. 1
85133014926. 2
85133014927. 3
85133014928. 4

Question Number : 132 Question Id : 8513303735 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



9 V05 SR aYl % & 91y AP el s dIX U Y S9d 81 X adTV § -

1. X =VOs", Y =VOo*
2. X =V0s, Y=VOy
3.X=VOs", Y=VOs
4. X =V0%, ¥ =V,0;
Options :

85133014925. 1
85133014926. 2
85133014927. 3
85133014928. 4

Question Number : 133 Question Id : 8513303736 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which one of following pairs in actinide series can have the highest oxidation state?

1. Np, Pu

2. U Am

3 U, €ém

4 Am, Cm
Options :
85133014929. 1
85133014930. 2
85133014931. 3
85133014932. 4

Question Number : 133 Question Id : 8513303736 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Ufdegs yulf U &4 FE o U {50 U g & aHl awl @1 ATEIH Saw] I=ad & 9odl & -

1. Np, Pu

2. U Am

3.U, Cm

4. Am, Cm
Options :
85133014929. 1
85133014930. 2
85133014931. 3
85133014932. 4



Question Number : 134 Question Id : 8513303737 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The carrect IUPAC nomenclature of [NiClz(PPhs)z] is

1. Bischleridobis(triphenylphosphine)nickel(ll)
2. Dichloridaobis(triphenylphosphine)nickel(ll)
3. Dichloridodi(triphenylphosphine)nickel(11)
4. Bischloridodi({triphenylphosphine)nickel(ll)
Options :

85133014933. 1

85133014934.2

85133014935.3

85133014936. 4

Question Number : 134 Question Id : 8513303737 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

[NiCl>(PPhs),] @1 Tel ATSQUITH! (IUPAC) TH © -

Options :

85133014933. 1
85133014934.2
85133014935. 3
85133014936. 4

Question Number : 135 Question Id : 8513303738 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



The molarity of an antifreeze sclution prepared by mixing 236 g of ethylene glycol (C;HgO2)
and 300 g of water is

(Given: density of sclution = 1.072 g/mL)

1.845 M
2.910 M
3.761TM

4. 14.06 M
Options :
85133014937. 1
85133014938. 2
85133014939. 3
85133014940. 4

Question Number : 135 Question Id : 8513303738 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
2369 T @S (C,Hs05) TUT 300g 9d &1 B o414 T UidH (antifreeze) [90a- @I
HieRal gF1l - (a1 11 8 : f9e- &1 99 = 1.072g/mL)

1.845 M
2.910M
3.761TM
4.14.06 M
Options :
85133014937. 1
85133014938. 2
85133014939. 3
85133014940. 4

Question Number : 136 Question Id : 8513303739 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

For the dissclution of a solid in a liquid, choose the incorrect statement.

1. If the dissolution is endothermic, the solubility should increase with rise in temperature.

2. If the dissolution is exothermic, the solubility should decrease with rise in temperature.

3. Pressure affects the solubility of solids in liquids such that on increasing pressure, solubility
of solids in liquid increases.

4. Solute dissolves in a solvent if the intermolecular interactions are similar in the two.



Options :

85133014941. 1
85133014942. 2
85133014943.3
85133014944. 4
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Options :

85133014941, 1

85133014942. 2

85133014943. 3

85133014944. 4
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Correct Marks : 4 Wrong Marks : 1

Choose the incorrect statement from the following

1. Standard boiling peint of a liquid is slightly lower than the normal boiling peint.

2. Boiling does not occur when liquid is heated in a closed vessel.

3. The SI unit of coefficient of viscosity is kg m™"s71.

4. When the attractive forces between molecules of a liquid is large, the surface tension is low.
Options :

85133014945. 1

85133014946. 2

85133014947. 3

85133014948. 4
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Correct Marks : 4 Wrong Marks : 1
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85133014945. 1

85133014946. 2

85133014947. 3

85133014948. 4
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Match List | with List Il

List | List Il
Graph Law
B, A. Boyle's law
P2
Wolume
By =P
=300
Temperature ("C)
1. Y, B. Avogadro’s law
.ll'lllz
Pressure
(bar)
V=V,
a Temperature (K)
1R § C. Charle's law
T
Pressure
TosTa




1A olume

1\, D. Gay-Lussac's law

Volume

Number of moles of gas

Choose the correct answer from the options given below

1. 1-D; II-C; 1lI-A; IV-B
2. 1-C; 1I-D; 1I1-B; IV-A
3. 1-C: =D HI-A; IV-B
4, I-D; I-C; 111-B; IV-A
Options :
85133014949. 1
85133014950. 2
85133014951. 3
85133014952. 4
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1. 1-D; I-C; HI-A; IV-B
2. 1-G; II-D; 11-B; IV-A
3. I-G; II-D; 11-A; IV-B
4. I-D; II-C; 11-B; IV-A
Options :
85133014949. 1
85133014950. 2



85133014951. 3
85133014952. 4
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Correct Marks : 4 Wrong Marks : 1
3 moles of helium gas at 1 bar is compressed reversibly and isothermally at 400 K to 10 bar
pressure. What is the work done (in J) on the system if R = 8314 K™ mol'?

1. 2.29 x 104

. 2.29 x 107°
.-2.29 x 10*
—229 x 1073
Options :
85133014953. 1
85133014954. 2
85133014955. 3
85133014956. 4
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1. 2.29 x 10*

. 2.29 x 107%
.-2.29 x 10°
—229 x 1074
Options :
85133014953. 1
85133014954. 2
85133014955. 3
85133014956. 4
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Choose the incorrect statement out of the following.

1. Molar heat capacity is an intensive property.

2. AS = 0 for an isolated system (AU = 0).

3. Bomb calorimeter is used to measure the heat absorbed at constant volume.
4. Pressure, volume and work done on the system are state functions.

Options :

85133014957. 1

85133014958. 2

85133014959. 3

85133014960. 4
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Options :

85133014957. 1

85133014958, 2

85133014959, 3

85133014960. 4
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Correct statement for the given reaction

Cr,0,° (aq)+ 50,* (ag) = Cri*(aq) + 50.” (aq)
is.

1. Generally SO4° is not a reducing agent

2. Cr**can be further reduced in this reaction
3. Oxidation by SO27 gives Cr**

4. In Cr;D;z' oxidation state of Cr is not +6
Options :



85133014961. 1
85133014962. 2
85133014963. 3
85133014964. 4
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ST o & fau gl U & -
Cr;0,° (aq)+ 50;,° (ag) = Cr**(aq) + 50,° (aq)

1, 50,2 U@ HUAEE 8l o
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Options :

85133014961. 1

85133014962, 2

85133014963. 3

85133014964 4
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Match List | with List 11

List I List Il
Reaction Enzyme
|, Starch — Maltose A, Zymase
. Glucose — Ethyl alcohol+ CO, B. Diastase
IIl. Sucrose — Glucose + Fructose C. Maltase
V. Maltose — Glucose D. Invertase

Choose the correct answer from the options given below

1. 1-C; II-A; 1I-D; IV-B
2. I-A; 1I-D; 111-B; IV-C
3. -G 1I-D; 11-A; IV-B
4. I-B; I-A; I-Dy; IV-C
Options :
85133014965. 1
85133014966. 2
85133014967. 3
85133014968. 4
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1. I-C; lI-A; 1I-D; IV-B
2. I-A; 1I-D; 111-B; IV-C
3. I-C; 1I-D; 11-A; IV-B
4. I-B; II-A; II-D; IV-C
Options :
85133014965. 1
85133014966. 2
85133014967. 3
85133014968. 4
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Which of the following method is not used for the coagulation of lyophobic sols?

1. Bredig's Arc method

2. Electrophoresis

3. Addition of flocculating ion
4. Persistent dialysis

Options :

85133014969. 1

85133014970. 2

85133014971. 3

85133014972. 4
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Options :

85133014969. 1
85133014970, 2
85133014971. 3
85133014972. 4

Question Number : 144 Question Id : 8513303747 Question Type : MCQ Option Shuffling : No
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Correct Marks : 4 Wrong Marks : 1

The decomposition of dimethyl ether obeys the following rate law

CH30CH,(g) — CH,(g) + H,(g) + €O (g)
e E’_I.-'..,
rate = k(Pep, ocn, ) 12

The rate of the reaction is followed by monitoring the increase in pressure in a closed vessel.
If pressure is measured in bar and time in min, then the units of rate and rate constant,
respectively are

1. bar#2 min~7, bar min~1
2. bar min~7, bar™12 min~!
3. bar min~7, bar~*/2 min
4. bar™2min~", bar min™"
Options :

85133014973. 1
85133014974. 2
85133014975. 3
85133014976. 4
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CH,0CH,(g) — CH,(g) + H,(g) + €O (g)

3
G -rate = k(pcy, ocn,) 2

AHTSHTT & &R DT U5 95 U H 19 BT §iG H Hi-1ex 61 791 §1 3fE G169 D1 bar H 7Y TG
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L W . | P
1. bar* min~', bar min~’

12

. | =
2. bar min~!, bar 72 min~]

3. bar min~?, bar 32 min
4, bar~"?min~1, bar min~’
Options :

85133014973. 1
85133014974. 2
85133014975. 3

85133014976. 4
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Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
For a first order reaction, the relationship between the time required for 99% completion of
reaction (tggg) and the time required for completion of 90% of reaction (tpgp) is

1. tpg0 = 10tp00
2. tpgo = 2tp g9
3. tpgg = 10tpp
4. togo = 2tpgo
Options :
85133014977. 1
85133014978. 2
85133014979. 3
85133014980. 4
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1. tpgo = 10tgog
2. tp.g0 = 2tgoe
3. tp.gg = 10tggp
4. tpg0 = 2tpap
Options :
85133014977. 1
85133014978. 2
85133014979. 3
85133014980. 4
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The solubility of Sr{OH); at 298 K is 20 g/L of solution. The pH of this solution will be

(Given: molar mass of Sr = 88 g/mol; log 40= 1.60; and log 122 = 2.086)

1.°13:5%

2. 048
3.10.22
4.11.25
Options :
85133014981. 1
85133014982. 2
85133014983. 3
85133014984. 4
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298 KUY, Sr(OH); I fdaiddl 20g /L [Aa8A 81 59 f9e8 &1 pH 811 (631 741§ - Sr &l HleR
godHI+ = 88g/mol ; log 40= 1.60; d4l log 122 = 2.086)

1.°13:51%
2.048

3.10.22
4.11.25
Options :



85133014981. 1
85133014982. 2
85133014983. 3
85133014984. 4
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On addition of 50 mL of 0.1 M CH3COOH solution to 25 mL of 0.1 M NaCH, the pH of the
solution is

(Given: K, of CH3COOH = 1.77 x 1072 log1.77 = 0.248)

1.9.25

2. 475

3. 4.01

4.9.18
Options :
85133014985. 1
85133014986. 2
85133014987. 3
85133014988. 4
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S1§ 0.1 M CH3COOH @ 50ml @1 0.1 M NaOH @ 25ml & 91y {fiifepfad fdar wiar & ot urd
fqer= &1 pH BT - (G118 - CH;COOH & K, DT TH = 1.77 % 107 log1.77 = 0.248)

1.9.25

2.4.75

3. 4.01

4.918
Options :
85133014985. 1
85133014986. 2
85133014987. 3
85133014988. 4
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Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

Which one of the following statements about a mercury cell is incorrect?

1. Zinc-Hg amalgam acts as anode.

2. Paste of HgO and C acts as cathode.

3. Paste of KOH and ZnO is used as electrolyte.

4. Cell potential is 2.50V and it keeps on decreasing with the life of the cell.
Options :

85133014989. 1

85133014990. 2

85133014991. 3

85133014992. 4
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Options :

85133014989. 1

85133014990. 2

85133014991. 3

85133014992. 4
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For the cell, Fe | Fe2* (0.1 M) || Cd%* (0.001 M) | Cd (s), the EMF (in Volt) at 25 o is.

(Given: E%pet jpe = —044V  ;  E° 24,05 = —0.40V)

1. -0.7811
2. -0.0191
3. 0.3561
4. -0.4651
Options :



85133014993. 1
85133014994. 2
85133014995. 3
85133014996. 4
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25 °C R, Td Fe | Fe2* (0.1 M) || Cd2* (0.001 M) | Cd (s), DT EMF (dlee H) BINTI -
(CAT TG ; E%p+ jpe = —044V 5  E% 4,0, = —040V)

1. -0.7811

2. -0.0191

3. 0.3561

4. -0.4651
Options :
85133014993. 1
85133014994. 2
85133014995. 3
85133014996. 4
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Litmus sclution, when shaken with charcoal, becomes colourless. Which one of the following
statements about adsorption from solution phase is incorrect?

1. Extent of adsorption depends on the concentration of the sclute in solution.

2. Extent of adsorption increases with increase of surface area of the adsorbent.

3. Extent of adsorption decreases with the decrease in temperature.

4. Extent of adsorption depends on the nature of the adsorbent and the adsorbate.
Options :

85133014997. 1

85133014998. 2

85133014999. 3

85133015000. 4
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Options :

85133014997. 1

85133014998. 2

85133014999. 3

85133015000. 4



